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1. Which of the following species is not an electrophile ?

(1)
3CH

⊕

(2) SO3

(3)
3H O

⊕

(4) NO

⊕

2. A prussian blue colour is formed during the test of nitrogen from Lassaigne’s extract.  The blue
colouration is obtained because of formation of :

(1) K3[Fe(CN)6]

(2) Fe4[Fe(CN)6]3
(3) Fe3[Fe(CN)6]2
(4) Fe4[Fe(CN)5NOS]3

3. Which of the following species is not aromatic ?

(1)

(2)

(3)

(4)

4. Which of these will give a positive Fehling’s test ?

(1) Benzaldehyde

(2) Fructose

(3) Acetophenone

(4) Salicylaldehyde
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5. Which of the given structures represents ‘Neoprene’ ?

(1)

(2)

(3)

(4)

6. Consider the following sequence of reactions :

(i) CH3C ≡ CH + CH3MgBr → A+B

(ii) A + C2H5Cl → C

‘C’ is :

(1) Propane

(2) CH3C ≡ CCH3

(3) CH3C ≡ CC2H5

(4) Butane

7. Baeyer reagent test is given by :

(1) Acetophenone

(2) Anthracene

(3) Acetone

(4) Cinnamaldehyde
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8. Amongst the following, the most stable carbocation is :

(1)

(2)

(3)

(4)

9. Consider the following reaction :

How many optically active compounds are produced in this reaction ?

(1) 2

(2) 4

(3) 6

(4) 8

10. In Hinsberg test for amines, the reaction type is :

(1) Nucleophilic substitution reaction

(2) Electrophilic addition reaction

(3) Elimination reaction

(4) Rearrangement reaction
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11. Consider the following sequence of reactions :

‘Z’ is :

(1)

(2)

(3)

(4)

12. In the given reaction :

CH3CH2CH=CHCH2CO2CH3
2

(1) DIBAL H

(2) H O
→

− ‘A’

‘A’ is :

(1) CH3CH2CH2CH2CH2CH2OH

(2) CH3CH2CH=CHCH2CH2OH

(3) CH3CH2CH2CH2CH2CH2CH2OH

(4) CH2=CHCH2CH2CH2CHO
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13. Which of the following compounds forms the meta-substitution product as the major product ?

(1)

(2)

(3)

(4)
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14. In the given sequence of reactions :

‘B’ is :

(1)

(2)

(3)

(4)
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15. The species which is least stabilised by resonance is :

(1)

(2)

(3)

(4)

16. The decreasing order of reactivity of the following halides towards 
1

S
N

 is :

(1) I > III > II

(2) II > III > I

(3) III > II > I

(4) II = III > I
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17. In the reaction given below

The number of possible stereoisomers for the product is/are :

(1) Two

(2) Four

(3) Zero

(4) Six

18. Which of these species will undergo Nucleophilic substitution reaction most readily ?

(1)

(2)

(3) CH2=CHCl

(4) CH3O−CH=CHCl

19. Chloroform is always kept in dark brown bottles. It reacts with the oxygen present in air to form :

(1) Cl2
(2) HCOOH

(3) HCHO

(4) COCl2
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20. In the given sequence of reactions :

(1)

(2)

(3)

(4)
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21. The number of possible structural isomers of an alkyne with the molecular formula.  C5H8 is :

(1) Two

(2) Three

(3) Four

(4) Five

22. Which of these product (s) exhibit stereoisomerism ?

(a)

(b)

(c)

(d)

Options :

(1) (a), (b) and (c) only

(2) (a) and (c) only

(3) (b) and (d) only

(4) (c) only

23. In the laboratory, 2-pentanone can be distinguished from 3-pentanone by :

(1) Fehling’s solution

(2) NaOI

(3) Tollen’s reagent

(4) 2, 4-DNP

24. Which of these will give a white precipitate with Bromine water ?

(1) Picric acid

(2) Carbolic acid

(3) Succimic acid

(4) Benzoic acid

25. Which of these is ‘most’ suitable for the preparation of CH3CH=CH−CHO ?

(1) CH3CH=CH−COOH 4LiAlH
→

(2) CH3CH=CH−COOH 4NaBH
→

(3) CH3CH=CH−CH2OH 3CrO
→

(4) CH3CH=CH−CH2OH PCC
→
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26. Which of the following is not a method of preparation of benzene ?

(1)

(2) acetylene red hot iron tube

873 K
→

(3)

(4)

27. The position of a double bond can be located by :

(1) Halogenation

(2) Pyrolysis

(3) Hydrogenation

(4) Ozonolysis

28. Which of the following is incorrect for the volatility of the pair given ?

(1) o-nitrophenol > p-nitrophenol

(2) Ethanol > Glycol

(3) Acetone > Acetic acid

(4) Isopentane > Neopentane

29. The increasing order of acidity of the given acids

 is :

(1) III < II < IV < I

(2) I < II < III < IV

(3) II < III < I < IV

(4) III < II < I < IV
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30. An alkene C7H14 on reductive ozonolysis gives an aldehyde with the formula CH3CHO and optically
active aldehyde ‘A’.  ‘A’ is :

(1) 2, 2-dimethyl propanal

(2) 2-methyl butanal

(3) 2, 3-dimethyl butanal

(4) Butanal

31. The IUPAC name of the given compound

  is :

(1) 1-chloro-3-ethyl but-2-en-4-ol

(2) 4-chloro-2-ethyl but-2-en-1-ol

(3) 5-chloro-3-hydroxy methyl pent-3-ene

(4) 1-chloro-3-hydroxy methyl pent-2-ene

32. In the reaction

, ‘X’ could be :

(1) O3

(2) Conc.HNO3

(3) KMnO4

(4) O2

33. Which of the following reactions will yield 2,2-dibromopropane ?

(1) HC≡CH+2HBr  →

(2) CH3CH=CHBr+HBr  →

(3) CH3C≡CH+2HBr  →

(4) CH3CH=CH2+HBr  →

34. In the given compounds, the decreasing order of hyperconjugative effect :

CH3−CH=CH2 (CH3)2CHCH=CH2

   I     II

CH3−CH=CHCH3 (CH3)2CH−CH=CHCH(CH3)2
     III      IV

is :

(1) IV > II > III > I

(2) III > IV > II > I

(3) IV > I > III > II

(4) III > I > IV > II
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35. In the given reaction

The Product ‘P’ is :

(1) CH3CH=CH−CH3

(2) CH3 CH2 CH=CH2

(3)

(4) CH3 CH2 CH2 CH2 OH

36. Which of these is least reactive towards 
2

N
S

 reactions ?

(1) CH3 CH2 CH2 CH2 CH2 Br

(2)

(3)

(4)

37. Aryl halides are less reactive towards nucleophilie substitution reactions than alkyl halides.  This is
due to :

(1) Repulsion by lone pair of electrons on halogen

(2) Formation of less stable carbonium ion

(3) Partial double bond between halogen and ring

(4) Inductive effect
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38. The nitrogen of which of these compounds can be estimated by the Kjeldahl method :

(1)

(2)

(3)

(4)

39. In column chromatography, component ‘A’ is eluted first from a mixture of ‘A’ and ‘B’.  Based on
this, the component ‘A’ has :

(1) low Rf, high adsorption

(2) low Rf, low adsorption

(3) high Rf, high adsorption

(4) hihg Rf, low adsorption

40. The giycoside linkage present in sucrose is of the type :

(1) C1 of α-glucose-C2 of β fructose

(2) C1 of α-glucose-C4 of β fructose

(3) C1 of α-glucose-C4 of β galactose

(4) C1 of α-glucose-C4 of β glucose

41. Which of these linkages is not responsible in stabilizing the tertiary structure of a protein ?

(1) disulphide linkage

(2) van der Vaals forces of attraction

(3) electrostatic forces of attraction

(4) peroxy linkages
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42. A patient is suffering from digestive disorders.  He is having a burning sensation of skin and
inflammations at the corners of his mouth.  He might be suffering from deficiency of :

(1) Vitamin B1

(2) Vitamin B2

(3) Vitamin B6

(4) Vitamin B12

43. In DNA molecules, the sugar moicety is :

(1) α-D-2-deoxyribose

(2) α-D-3-deoxyribose

(3) β-D-3-deoxyribose

(4) β-D-2-deoxyribose

44. Which one of these primary amines cannot be synthesized by Gabriel phthalimide synthesis ?

(1)

(2) CH3CH2CH2NH2

(3)

(4)

45. Which of these is not the correct formula of the stable oxide of these elements ?

(1) N2O3

(2) P2O3

(3) As2O3

(4) Sb2O3

46. The anomalous behaviour of the first member of s-and p-block elements is because of :

(1) Small size, small charge/radius ratio, high electronegativity

(2) Large size, large charge/radius ratio, low electronegativity

(3) Small size, large charge/radius ratio, low electronegativity

(4) Small size, large charge/radius ratio, high electronegativity
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47. Arrange the following molecules in the increasing order of bond length

H2, F2, HF

(1) H2 < HF < F2
(2) H2 < F2 < HF

(3) F2 < H2 < HF

(4) HF < H2 < F2

48. The increasing order of dipole moments of the given molecules is :

CH4, CH2Cl2, CHCl3

   I      II    III

(1) II < III < I

(2) I < II < III

(3) I < III < II

(4) III < II < I

49. Arrange the molecules in column A with their shape in column B.

Column (A) Column (B)

(a) NH3 (i) T-shaped

(b) BF3 (ii) Tetrahedral

(c) CHCl3 (iii) Trigonal planar

(d) ClF3 (iv) Trigonal pyramidal

(1) (a) (iii), (b) (i), (c) (ii), (d) (iv)

(2) (a) (iv), (b) (i), (c) (iii), (d) (ii)

(3) (a) (iv), (b) (i), (c) (ii), (d) (iii)

(4) (a) (iv), (b) (iii), (c) (ii), (d) (i)

50. In halogens, which of these does not increase from iodine to fluorine ?

(1) Bond length

(2) Electronegativity

(3) The first ionization energy of the element

(4) Oxidizing power

51. The order of increasing electron affinitiy of the following electronic configurations is :

(a) 1s2 2s2 2p6 3s2 3p5

(b) 1s2 2s2 2p3

(c) 1s2 2s2 2p5

(d) 1s2 2s2 2p6 3s1

is :

(1) b < d < c < a

(2) a < b < c < d

(3) a < c < b < d

(4) d < c < b < a
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52. Which of these is not a characteristic of solution of alkali metals in liq. NH3 ?

(1) The solution is blue in colour

(2) Liberates H2 on standing

(3) Conducts electricity

(4) Concentrated solution is paramagnetic

53. Which of these pairs form the chloro-bridged structure in the vapour phase ?

(1) BeCl2 and AlCl3
(2) LiCl and MgCl2
(3) MgCl2 and CaCl2
(4) BCl3 and AlCl3

54. Which of these statements does not define lactose ?

(1) It is a reducing sugar

(2) It is a disaccharide

(3) It is composed of α-D glucose and β-D Galactose

(4) It is milk sugar

55. Which of the given pairs is isostructural ?

(1) XeOF4 and BrF5
(2) XeO3 and BrF3
(3) XeF2 and HClO

(4) XeF6 and IF7

56. An element which can show the +8 oxidation state is :

(1) Mn

(2) Co

(3) Fe

(4) Os

57. Which of these statements is not true about zeolites ?

(1) Used as ion exchangers

(2) Used as catalysts in the petrochemical industry

(3) Are borosilicates

(4) Na+/K+ are used to balance the negative charge

58. A transition element which does not show variable oxidation states is :

(1) Vanadium

(2) Nickel

(3) Scandium

(4) Copper
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59. Brass is an alloy of :

(1) Copper-tin

(2) Copper-zinc

(3) Tin-lead

(4) Copper-silver

60. Which of these has the maximum number of unpaired electrons ?

(1) Mg2+

(2) Ti3+

(3) V3+

(4) Fe2+

61. TiC and Mn4N are examples of :

(1) Covalent compounds of transition metals

(2) Alloys

(3) Metal-non metal complexes

(4) Interstitial compounds

62. Amongst the following pairs, which one is a pair of amphoteric oxides ?

(1) CrO3, V2O3

(2) CrO, V2O4

(3) Cr2O3, V2O5

(4) CrO5, V2O5

63. Consider the following reactions in the preparation of KMnO4 :

Medium 1 2
2 2 4

Medium 22
4 4

2 MnO   O   MnO

MnO   MnO

→

→

−

− −

+

Medium 1 and Medium 2 are respectively

(1) Medium 1 : Acidic; Medium 2 : Neutral

(2) Medium 1 and Medium 2 : Both Acidic

(3) Medium 1 : Acidic; Medium 2 : Alkaline

(4) Medium 1 : Alkaline; Medium 2 : Neutral

64. Dichromate dianion has :

(1) Square pyramidal structure

(2) Cr-O-Cr bond angle < 1208

(3) All equivalent Cr-O bonds

(4) 6 equivalent Cr-O bonds

65. Oxides of lanthanoids are represented by the general formula :

(1) LnO3

(2) LnO2

(3) Ln2O3

(4) LnO
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66. Which of these following statements is not correct about lanthanoids ?

(1) Their ionic radii decrease from La3+ to Lu3+⋅

(2) Atomic radii of Zr and Hf are the same because of lanthanoid contraction.

(3) They react with dilute haloacids to give LnX3+Ln(OH)3.

(4) Mischmetall is an alloy of lanthanoids.

67. Which of the following is a redox reaction ?

(1) K4[Fe(CN)6]+6H2SO4+6H2O → 2K2SO4 +6CO+FeSO4+3(NH4)2SO4

(2) CuSO4+4NH3 →[Cu(NH3)4]SO4

(3) Pb3O4+8HCl→3PbCl2+Cl2+4H2O

(4) FeCl3+K4[Fe(CN)6] →KCl+Fe4[Fe(CN)6]3

68. In the reaction given below :

2
2 3 2 3 33Br   6CO   3 H O  5 Br   BrO   6 HCO→

− − − −

+ + + +

(1) Bromine is oxidized and carbonate ion is reduced.

(2) Bromine is reduced and carbonate ion is oxidized.

(3) The given reaction is not an oxidation-reduction reaction.

(4) Bromine undergoes both oxidation and reduction.

69. In the given reaction :

Cr2O7
2−(aq)+3SO3

2−(aq)+8H+(aq) → Cr3+(aq)+3SO4
2−(aq)+4H2O(l)

The change in oxidation state of sulphur is :

(1) +6 →+8

(2) +2 →+4

(3) +4 →+6

(4) +3 →+6

70. The correct order of decreasing oxidation state of phosphorus in the given compounds is :

POF3, P4, H3PO3, Ca3P2

  (a) (b)    (c)   (d)

(1) a > c > b > d

(2) a > b > c > d

(3) b > d > a > c

(4) d > b > a > c

71. Which of the following is not an ambidentate ligand ?

(1) CNs

(2) SCNs

(3) NO2
s

(4) C2O4
2s

72. Amongst Ni(CO)4, [Ni(CN)4]
2− and [NiCl4]

2−

(1) Ni(CO)4 is diamagnetic and [NiCl4]
2− and [Ni(CN)4]

2− are paramagnetic

(2) Ni(CO)4 and [Ni(CN)4]
2− are  diamagnetic and [Ni Cl4]

2− is paramagnetic

(3) [Ni Cl4]
2− and [Ni(CN)4]

2− are  diamagnetic and Ni(CO)4
 is paramagnetic

(4) Ni(CO)4 and [Ni Cl4]
2− are  diamagnetic and [Ni(CN)4]

2− is paramagnetic
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73. The Oxidation number of cobalt in K [Co(CO)4] is :

(1) +3

(2) −3

(3) +1

(4) −1

74. Which of the following pigments/enzymes has cobalt ?

(1) Haemoglobin

(2) Vitamin B12
(3) Carboxypeptidase

(4) Chlorophyll

75. Which of these cobalt complexes shows both geometrical and optical isomerism ?

(1) [Co(NH3)2 Cl2]
+

(2) [Co(en)2 Cl2]
+

(3) [Co(NH3)5 Cl]
2+

(4) [Co(NH3)5 NO2]
2+

76. Which of the following statements is not a characteristic of M-C bonds in metal carbonyl
complexes ?

(1) It has both σ and π characteristics.

(2) The lone pair of electrons from the carbonyl to metal foms the σ bound

(3) The lone pair of electrons from the metal to the bonding orbitals of carbonyl form the π bond

(4) The lone pair of electrons from the metal to the antibonding orbitals of carbonyl forms the π
bound

77. EDTA is used in the treatment of :

(1) Lead poisoning

(2) Copper poisoning

(3) Iron poisoning

(4) Cancer

78. Which of the following pairs has both the metals in their highest oxidation states ?

(1) [Fe(CN)6]
4−, [Co(CN)6]

3−

(2) CrO2Cl2, MnO4
−

(3) TiO3, MnO2

(4) [Co(CN)6]
3−, MnO2
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79. Consider the following reaction :

‘P’ is :

(1)

(2)

(3)

(4)
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80. The given reaction is an example of :

2 4H SO

3 2 3 2 2 3
413 K

CH CH OH  CH CH OCH CH→

(1) Nucleophilic substitution unimolecular reaction

(2) Nucleophilic substitution bimolecular reaction

(3) Nucleophilic addition reaction

(4) Electrophilic substitution reaction

81. If the concentration of glucose (C6H12O6) in blood is 0.9g/L, the molarity of glucose will be :

(1) 0.5 M

(2) 5.0 M

(3) 50 M

(4) 0.005 M

82. The molality of a solution which contains 18.25g of HCl gas in 500g of water will be :

(1) 0.05 m

(2) 0.5 m

(3) 1.5 m

(4) 1.0 m

83. A solution is prepared by dissolving 18.25g of sodium hydroxide (NaOH) in distilled water to give
200 mL of solution.  The molarity of sodium hydroxide solution will be :

(1) 2.00 M

(2) 2.28 M

(3) 1.30 M

(4) 2.5 M

84. Which of the following has the greatest number of ions ?

(1) 50g of NaCl (formula mass 58)

(2) 50g of K2O (formula mass 94)

(3) 50g of Na2O (formula mass 62)

(4) 50g of CaCl2 (formula mass 111)

85. Designations given to orbitals having n=2, l=1 and n=4, l=2 are respectively ?

(1) 3s and 5p

(2) 2p and 4d

(3) 3p and 5d

(4) 2s and 4p

86. Consider the following species Cls, Ar and Kr

The correct order of increasing ionization energy will be :

(1) Ar < Kr < Cls

(2) Cls < Ar < Kr

(3) Ar < Cls < Kr

(4) Kr < Ar < Cls
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87. The quantum numbers of four electrons are given below :

(i) n=4, l=2, ml=−2, ms=
1

2
 −

(ii) n=3, l=2, ml=1, ms=
1

2
 +

(iii) n=4, l=1, ml=0, ms=
1

2
 +

(iv) n=5, l=1, ml=0, ms=
1

2
 −

The correct order of their increasing energy will be :

(1) i < ii < iv < iii

(2) ii < iii < i < iv

(3) i < ii < iii < iv

(4) iii < ii < iv < i

88. Chlorine exists in two isotopic forms Cl-37 and Cl-35; Its atomic mass is 35.5.  This indicates that
the ratio of Cl-37 and Cl-35 is approximately :

(1) 1:2

(2) 1:1

(3) 1:3

(4) 3:1

89. The number of waves made by a Bohr’s electron in one complete revolution in its third orbit will
be:

(1) 2λ

(2) 3λ

(3) 4λ

(4) 5λ

90. The correct order of increasing of radii of the following species

F−, 2

2O
− , Na+ and Mg2+

will be :

(1) O2− < F− < Mg2+ < Na+

(2) O2− < F− < Na+ < Mg2+

(3) F− < O2− <  Mg2+ < Na+

(4) Mg2+ <  Na+ < F− < O2−

91. Orbital angular momentum depends on :

(1) n and l

(2) n and ml

(3) ml and ms

(4) l only
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92. The number of radial nodes and angular nodes for the 4P orbital are, respectively :

(1) 1, 2

(2) 2, 1

(3) 3, 2

(4) 4, 1

93. A ball of mass 0.1 kg is moving with a velocity of 10 m s−1.  The wavelength associated with the
ball will be (h=6.63×10−34 J s and J=kg m2 s−2)

(1) 5.62×10−34m

(2) 6.63×10−34m

(3) 6.63×10−32m

(4) 6.63×10−35m

94. Which of the following has a bond angle closest to 908 ?

(1) NH3

(2) H2S

(3) H2O

(4) CH4

95. CO2 is isostructural with :

(1) SO2

(2) SnCl2
(3) C2H2

(4) NO2

96. In diborane, the hybridization if boron is :

(1) sp

(2) sp2

(3) sp3

(4) dsp2

97. Which of the following has a trigonal planar structure ?

(1) CO2

(2) NO2

(3) N2O

(4) SO2

98. The dipole moment of HBr is 2.6×10−30 C.m and the interatomic spacing is 141 pm.  The percentage
ionic character of HBr will be {electron charge 1.6×10−19C} :

(1) 11.5%

(2) 15%

(3) 10%

(4) 13%
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99. The temperature of 1 mol liquid is raised by heating it with 750J of energy.  It expands and does
200J work.  The change in internal energy of the liquid will be :

(1) +950J

(2) −950J

(3) +550J

(4) −550J

100. Which of the following is not correct ?

(1) ∆U does not discriminate between reversible and irreversible process whereas  ∆S does

(2) ∆Stotal=∆Ssystem=∆Ssurroundings < zero for an irrevesible process

(3) Standard entropy 
298S
�  of CO2(g) is more than that of CO(g)

(4) The standard entropy 
298S
� of a substance is the molar entropy at 298k and 1 bar pressure

and its unit is JK−1 mol−1

101. Reaction N2+3H2→ 2NH3 is carried out at a constant temperature and pressure.  If ∆H and ∆U
are the enthalpy and internal energy changes respectively for the reaction, which one of the
following expressions is correct ?

(1) ∆H=O

(2) ∆H=∆U

(3) ∆H < ∆U

(4) ∆H > ∆U

102. Consider the following reactions

(a) C(g)+4H(g) → CH4(g); ∆H=x kJ mol−1

(b) Cgraphite+2H2(g)→CH4(g); ∆H=y kJ mol−1

Based on the above two reactions, find out the correct option from the following :

(1) x=y

(2) x=2y

(3) x > y

(4) x < y

103. In a fuel cell, when methanol is used as a fuel and oxygen as an oxidizer, the following reaction
takes place :

CH3OH(l)+
3

2

O2(g) →CO2(g)+2H2O(l)

If the standard free energy of the formation of CH3OH, CO2 and H2O are −166.0 −394.0 and
−237.0 kJ mol−1 respectively, and the standard enthalpy of combustion of methanol is
−726.0 kJ mol−1, the efficiency of conversion of Gibb’s energy into useful work will be :

(1) 90%

(2) 85%

(3) 80%

(4) 96%
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104. Which of the following statements is not correct ?

(1) A catalyst does not affect the amount of product formed.

(2) The collision theory is most useful for bimolecular reactions in gas.

(3) The rate constant of a reaction increases exponentially with temperature.

(4) Greatest the value of the free energy of activation, greater is the value of the rate constant.

105. Which of the following units represents a zero order reaction ?

(1) s−1

(2) L mol−1 s−1

(3) mol L−1 s−1

(4) mol−2 s−1 L2

106. According to the Arrhenius equation, the rate can be expressed by k=Ae−E/RT

In this equation which of the following does E represent ?

(1) The fraction of molecules with an energy greater than the activation energy of the reaction.

(2) The total energy of the reacting molecules at temperature T.

(3) The energy above which all the colliding molecules will react.

(4) The energy below which the colliding molecules will not react.

107. Conversion of A into B (i.e.A→B) is a first order reaction.  If k is the rate constant of the reaction,
then the time of conversion of 99.9% of A into B will be :

(1)
6.909

k

(2)
0.693

k

(3)
0.093

k

(4)
9.96

k

108. Which of the following statements is not correct ?

(1) Integrated rate equation for first order reaction may be represented as ln [A]t=ln [A]ο−kt

(2) In first order reactions the exponential decay can be expressed as [A]t=[A]οe
−kt

(3) For a first order reaction 
1
2

ln2
t   

k
=

(4) For a second order reaction, the unit of k is given by dm2 mol−1 s−2

109. When 3.0 mol of X and 1.0 mol of Y are mixed in a 1.0L vessel, the following reaction takes place
X(g)+Y(g)º2Z(g)

The equilibrium mixture contains 0.50 mol of Z.  The value of the equilibrium constant for the
reaction will be :

(1) 0.15

(2) 0.12

(3) 0.14

(4) 0.80
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110. In the reaction

N2+2O2º2NO2+heat

If at equilibrium 5 mol of N2, 7 mol of O2 and 0.10 mol of NO2 are present in a 1.5L vessel at a
certain temperature, the value of the equilibrium constant will be :

(1) 2.5×10−5

(2) 4.6×10−4

(3) 6.1×10−5

(4) 5.6×10−5

111. A solution of NaOH is 5.0×10−2M.  Its pH will be {Given log 2=0.3} :

(1) 14

(2) 12.7

(3) 7.8

(4) 10.5

112. A saturated solution of silver acetate, CH3COOAg contains 2×10−3 mol of silver ions/litre of
solution.  The solubility product Ksp for CH3COOAg will be :

(1) 4×10−3

(2) 4×10−6

(3) 2×10−3

(4) 2×10−5

113. The enthalpy of neutralization of four acids A, B, C and D when neutralized against a common
base are 57.7, 39.7, 47.3 and 52.3 kJ mol−1 respectively.  The weakest acid amongst these is :

(1) A

(2) B

(3) C

(4) D

114. Among the following pairs of solutions, which one is expected to be isotonic at the same
temperature ?

(1) 0.1M Urea and 0.2 M MgCl2
(2) 0.1M Urea and 0.2 M NaCl

(3) 0.1M NaCl and 0.1 M Na2SO4

(4) 0.1M Ca(NO3)2 and 0.1 M Na2SO4

115. Toluene in the vapour phase is in equilibrium with a solution of benzene and toluene having mole
fraction of toluene 0.05.  If the vapour pressure of pure benzene is 119 torr and that of toluene is
37.0 torr, then at this same temperature, the mole fraction of toluene in the vapour phase will be :

(1) 0.462

(2) 0.237

(3) 0.506

(4) 0.325
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116. Which one of the following statements regarding the conductivity of solutions of electrolytes is
incorrect ?

(1) The conductivity of the solution depends upon the viscosity of the solution.

(2) The conductivity of the solution depends upon the size of ions.

(3) The conductivity of the solution increases with increase in temperature.

(4) The conductivity does not depend upon solution of the ions present in solution.

117. Given

2 3

2 7 2

2 3

4

o o

Cr O Cr Cl Cl

o o

MnO Mn Cr Cr

E   1.33 V, E   1.36 V

E   1.51 V, E   0.74 V

− + −

− + +

= =

= =−

Based on the data given above, which one is the strongest reducing agent ?

(1) Cr3+

(2) Mn2+

(3) Cr

(4) Cl−

118. Consider the following E8 values,

3 2

o

Fe Fe
E   0.77 V
+ +
=  and 

2

o

Sn Sn
E   0.14 V 

+
=−  Under standard conditions the potential for the

reaction Sn(s)+2Fe3+(aq)→2Fe2+(aq)+Sn2+(aq) will be :

(1) 0.63 V

(2) 1.68 V

(3) 0.91 V

(4) 1.40 V

119. Which of the following is an example of a disproportionation reaction ?

(1) CH4+4Cl2→CCl4+4HCl

(2) 2F2+2OHs→2Fs+OF2+H2O

(3) 2NO2+2OHs→NO2
s+NO3

s+H2O

(4) CH4+2O2→CO2+2H2O

120. The oxidation numbers of Cl in HCl, HClO, 
4

ClO
−  and Ca(OCl)Cl are respectively :

(1) −1, +1, −7, 0

(2) −1, +1, +7, 0

(3) +1, −1, +7, 1

(4) −1, −1, −7, 0
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1. ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ ∑§ÊÒŸ ‚Ë ¬˝¡ÊÁÃ ÁfllÈÃ⁄UÊªË (ß‹Ä≈˛UÊ»§Êß‹) Ÿ„Ë¥ „Ò?

(1)
3CH

⊕

(2) SO3

(3)
3H O

⊕

(4) NO

⊕

2. ‹Ò‚¥ ∑§ ÁŸc∑§·¸áÊ (‚Ê⁄UÃàfl) ‚ ŸÊß≈˛UÊ¡Ÿ ∑§ ¬⁄UËˇÊáÊ ∑§ ŒÊÒ⁄UÊŸ ∞∑§ ¬˝Á‡Ê∑§Ëÿ ŸË‹fláÊ¸ ©à¬ÛÊ „ÊÃÊ „Ò– ß‚∑§Ê ŸË‹ fláÊ¸⁄¥U¡Ÿ
ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ Á∑§‚∑§ ÁŸ◊Ê¸áÊ ∑§ »§‹SflM§¬ ©à¬ÛÊ „ÊÃÊ „Ò?
(1) K3[Fe(CN)6]

(2) Fe4[Fe(CN)6]3
(3) Fe3[Fe(CN)6]2
(4) Fe4[Fe(CN)5NOS]3

3. ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ ∑§ÊÒŸ ‚Ë ¬˝¡ÊÁÃ ‚È¥ªÁœÃ (∞⁄UÊ◊ÒÁ≈U∑§) Ÿ„Ë¥ „ÊÃË „Ò ?

(1)

(2)

(3)

(4)

4. ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ Á∑§‚‚ œŸÊà◊∑§ »§„Á‹¥ª ¬⁄UËˇÊáÊ Á∑§ÿÊ ¡Ê ‚∑§ÃÊ „Ò  ?

(1) ’¥Ò¡‹Á«U„Êß«U

(2) »˝§Ä≈UÊ‚

(3) ∞Á‚≈UÊÁ»§ŸÊŸ

(4) ‚ÒÁ‹Á‚‹ ∞ÁÀ«U„Êß«U
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5. ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ ∑§ÊÒŸ ‚Ë ‚¥⁄UøŸÊ “ÁŸÿÊ¬˝ËŸ” ∑§Ê ÁŸM§Á¬Ã ∑§⁄UÃË „Ò ?

(1)

(2)

(3)

(4)

6. •Á÷Á∑˝§ÿÊ ∑§ ÁŸêŸÊ¥Á∑§Ã ∑˝§◊ ¬⁄U ÁfløÊ⁄U ∑§ËÁ¡∞
(i) CH3C ≡ CH + CH3MgBr → A+B

(ii) A + C2H5Cl → C

ÿ„Ê° ‘C’ „Ò —

(1) ¬˝Ê¬Ÿ
(2) CH3C ≡ CCH3

(3) CH3C ≡ CC2H5

(4) éÿÍ≈UŸ

7. ’ÿ⁄U •Á÷∑§◊¸∑§ ¬⁄UËˇÊáÊ Á∑§‚∑§Ê Á∑§ÿÊ ¡ÊÃÊ „Ò?

(1) ∞Á‚≈UÊÁ»§ŸÊŸ

(2) ∞¥Õ˝ÊÁ‚Ÿ

(3) ∞‚Ë≈UÊŸ

(4) Á‚ŸÊ◊ÁÀ«U„Êß«U
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8. ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ ‚flÊ¸Áœ∑§ ∆UÊ‚ ∑§Ê’Ê¸œŸÊÿŸ „Ò —

(1)

(2)

(3)

(4)

9. ÁŸêŸÊ¥Á∑§Ã •Á÷Á∑˝§ÿÊ ¬⁄U ÁfløÊ⁄U ∑§ËÁ¡∞

 ∞∑§‹ Ä‹Ê⁄UËŸ ÿÈÄÃ ¬˝ÁÃ»§‹

ß‚ •Á÷Á∑˝§ÿÊ ◊¥ Á∑§ÃŸ ¬˝Ê∑§ÊÁ‡Ê∑§ M§¬ ‚ ‚Á∑˝§ÿ ÿÊÒÁª∑§ ©à¬ãŸ „ÊÃ „Ò¥?
(1) 2

(2) 4

(3) 6

(4) 8

10. ∞◊ÊßŸ ∑§ Á„¥‚’ª¸ ¬⁄UËˇÊáÊ ◊¥ „ÊŸflÊ‹Ë •Á÷Á∑˝§ÿÊ ∑§Ê ¬˝∑§Ê⁄U „Ò —

(1) ∑§ãŒ˝∑§SŸ„Ë ¬˝ÁÃSÕÊ¬Ÿ •Á÷Á∑˝§ÿÊ

(2) ÁfllÈÃ SŸ„Ë ÿÊ¡∑§ •Á÷Á∑˝§ÿÊ

(3) ÁŸc∑§Ê‚Ÿ •Á÷Á∑˝§ÿÊ

(4) ¬ÈŸÁfl¸ãÿÊ‚ •Á÷Á∑˝§ÿÊ
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11. •Á÷Á∑˝§ÿÊ ∑§ ÁŸêŸÊ¥Á∑§Ã ∑˝§◊ ¬⁄U ÁfløÊ⁄U ∑§ËÁ¡∞–

‘Z’ „Ò :

(1)

(2)

(3)

(4)
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12. ŸËø ŒË ªß¸ ¬˝ÁÃÁ∑˝§ÿÊ

CH3CH2CH=CHCH2CO2CH3
2

(1) DIBAL H

(2) H O
→

− ‘A’

◊¥ ‘A’ „Ò —
(1) CH3CH2CH2CH2CH2CH2OH

(2) CH3CH2CH=CHCH2CH2OH

(3) CH3CH2CH2CH2CH2CH2CH2OH

(4) CH2=CHCH2CH2CH2CHO

13. ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ Á∑§‚ ÿÊÒÁª∑§ ‚ ¬˝◊Èπ ©à¬ÊŒ ∑§ M§¬ ◊¥ •Áœ¬˝ÁÃSÕÊ¬Ÿ ©à¬ÊŒ ∑§Ê ÁŸ◊Ê¸áÊ „ÊÃÊ „Ò ?

(1)

(2)

(3)

(4)
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14. ŒË ªß¸ •Á÷Á∑˝§ÿÊ ∑§ ∑˝§◊ ◊¥

◊¥

‘B’ „Ò —

(1)

(2)

(3)

(4)
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15. ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ ∑§ÊÒŸ ‚Ë ¬˝¡ÊÁÃ •ŸÈŸÊŒ mÊ⁄UÊ ‚’‚ ∑§◊ ÁSÕ⁄U „ÊÃË „Ò?

(1)

(2)

(3)

(4)

16.
1

S
N

 ∑§Ë ÁŒ‡ÊÊ ◊¥ ÁŸêŸÊ¥Á∑§Ã „Ò‹Êß«U ∑§Ë •Á÷Á∑˝§ÿÊ‡ÊË‹ÃÊ ∑§Ê •fl⁄UÊ„Ë ∑˝§◊ „Ò :

(1) I > III > II

(2) II > III > I

(3) III > II > I

(4) II = III > I
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17. ŸËø ŒË ªß¸ •Á÷Á∑˝§ÿÊ ◊¥

©à¬ÊŒ ∑§ ‚¥÷Ê√ÿ ÁòÊÁfl◊ ‚◊ÊflÿflÊ¥ ∑§Ë ‚¥ÅÿÊ Á∑§ÃŸË „Ò¥?

(1) ŒÊ

(2) øÊ⁄U

(3) ‡ÊÍãÿ

(4) ¿U„

18. ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ Á∑§‚ ¬˝¡ÊÁÃ ◊¥ ‚’‚ •Áœ∑§ •Ê‚ÊŸË ‚ ∑§ãŒ˝∑§ ⁄UÊªË ¬˝ÁÃSÕÊ¬Ÿ •Á÷Á∑˝§ÿÊ „ÊªË ?

(1)

(2)

(3) CH2=CHCl

(4) CH3O−CH=CHCl

19. Ä‹Ê⁄UÊ»§ÊÚ◊¸ ∑§Ê ‚ŒÒfl ∑§Ê‹ ÷Í⁄U ⁄¥Uª ∑§ ’ÊÃ‹ ◊¥ ⁄UπÊ ¡ÊÃÊ „Ò– „flÊ ◊¥ Áfll◊ÊŸ •ÊÚÄ‚Ë¡Ÿ ‚ ß‚∑§Ë •Á÷Á∑˝§ÿÊ „ÊŸ ∑§
»§‹SflM§¬ ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ Á∑§‚∑§Ê ÁŸ◊Ê¸áÊ „ÊÃÊ „Ò?
(1) Cl2
(2) HCOOH

(3) HCHO

(4) COCl2
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20. ŒË ªß¸ •Á÷Á∑˝§ÿÊ ∑˝§◊ ◊¥

, ◊¥ ‘B’ „Ò —

(1)

(2)

(3)

(4)
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21. •ÊÁáfl∑§ ‚ÍòÊ C5H8 ∑§ ‚ÊÕ ∞À∑§ÊßŸ ∑§ ‚¥÷Ê√ÿ ‚¥⁄UøŸÊà◊∑§ ‚◊Êflÿfl ∑§Ë ‚¥ÅÿÊ Á∑§ÃŸË „Ò?

(1) ŒÊ

(2) ÃËŸ

(3) øÊ⁄U

(4) ¬Ê¥ø

22. ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ Á∑§‚/Á∑§Ÿ ©à¬ÊŒ (ŒÊ¥)◊¥ ÁòÊÁfl◊ ‚◊ÊflÿflÃÊ ∑§Ê ¬˝ŒÁ‡Ê¸Ã Á∑§ÿÊ ªÿÊ „Ò ?

(a)

(b)

(c)

(d)

Áfl∑§À¬ —

(1) ∑§fl‹ (a), (b) •ÊÒ⁄U (c)

(2) ∑§fl‹ (a) •ÊÒ⁄U (c)

(3) ∑§fl‹ (b) •ÊÒ⁄U (d)

(4) (c) ∑§fl‹

23. ¬˝ÿÊª‡ÊÊ‹Ê ◊¥, 2-¬¥≈UÊŸÊŸ •ÊÒ⁄U 3-¬¥≈UÊŸÊŸ ◊¥ Áfl÷Œ Á∑§ÿÊ ¡Ê ‚∑§ÃÊ „Ò —

(1) »§„Á‹¥ª Áfl‹ÿŸ ‚
(2) NaOI

(3) ≈UÊÚ‹Ÿ •Á÷∑§◊¸∑§

(4) 2, 4-«UË ∞Ÿ ¬Ë

24. ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ Á∑§‚∑§Ë ’˝Ê◊ËŸ ¡‹ ‚ •Á÷Á∑˝§ÿÊ „ÊŸ ¬⁄U ‡flÃ •flˇÊ¬ ¬˝Ê# „ÊÃÊ „Ò ?

(1) Á¬∑§Á⁄U∑§ •ê‹

(2) ∑§Ê’Ê¸Á‹∑§ •ê‹

(3) ‚ÁÄ‚ÁŸ∑§ •ê‹

(4) flÒ¥¡Êß∑§ •ê‹
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25. CH3CH=CH−CHO ÃÒÿÊ⁄U ∑§⁄UŸ ∑§ Á‹∞ ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ ÄÿÊ ‚flÊ¸Áœ∑§ ©¬ÿÈÄÃ „Ò?

(1) CH3CH=CH−COOH 4LiAlH
→

(2) CH3CH=CH−COOH 4NaBH
→

(3) CH3CH=CH−CH2OH 3CrO
→

(4) CH3CH=CH−CH2OH PCC
→

26. ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ ÄÿÊ ’¥¡ËŸ ÃÒÿÊ⁄U ∑§⁄UŸ ∑§Ë ÁflÁœ Ÿ„Ë¥ „Ò ?

(1)

(2) acetylene red hot iron tube

873 k
→

(3)

(4)

27. Ám∑§ •Ê’¥œ ∑§Ë ÁSÕÁÃ ôÊÊÃ ∑§Ë ¡Ê ‚∑§ÃË „Ò —

(1) „Ò‹Ê¡ŸŸ ‚

(2) ©ûÊÊ¬ •¬ÉÊ≈UŸ ‚

(3) „Êß«˛UÊ¡ŸŸ ‚

(4) •Ê¡ÊŸË•¬ÉÊ≈UŸ

28. ÁŒ∞ ª∞ ÿÈÇ◊ ∑§Ë flÊc¬‡ÊË‹ÃÊ ∑§ ‚¥Œ÷¸ ◊¥ ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ ∑§ÊÒŸ ‚Ê ∑§ÕŸ ª‹Ã „Ò ?

(1) o-ŸÊß≈˛UÊ»§ŸÊ‹  > p-ŸÊß≈˛UÊ»§ŸÊ‹

(2) ßÕŸÊÚ‹ > ª‹Êß∑§Ê‹

(3) ∞‚Ë≈UÊŸ > ∞Á‚≈UË∑§ •ê‹

(4) •Êß‚Ê¬¥≈UŸ  > ÁŸÿÊ¬¥≈UŸ
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29. ÁŒ∞ ª∞ •ê‹ ◊¥ •ê‹ËÿÃÊ ∑§Ê •Ê⁄UÊ„Ë ∑˝§◊ ôÊÊÃ ∑§⁄¥U —

(1) III < II < IV < I

(2) I < II < III < IV

(3) II < III < I < IV

(4) III < II < I < IV

30. ∞À∑§ËŸ C7H14 ∑§Ê •¬øÊÿ∑§ •Ê¡ÊŸË •¬ÉÊ≈UŸ „ÊŸ ∑§ »§‹SflM§¬ CH3CHO ‚ÍòÊ flÊ‹Ê ∞ÁÀ«U„Êß«U •ÊÒ⁄U ¬˝∑§ÊÁ‡Ê∑§ M§¬
‚ ‚Á∑˝§ÿ ∞ÁÀ«U„Êß«U ‘A’ ©à¬ÛÊ „ÊÃÊ „Ò– ß‚◊¥ ‘A’ÄÿÊ „Ò?

(1) 2, 2- «UÊßÁ◊ÕÊß‹ ¬˝Ê¬ŸÊ‹

(2) 2-Á◊ÕÊß‹ éÿÍ≈UŸÊ‹

(3) 2, 3-«UÊßÁ◊ÕÊß‹ éÿÍ≈UŸÊ‹

(4) éÿÍ≈UŸÊ‹

31. ÁŒ∞ ª∞ ÿÊÒÁª∑§ ∑§Ê •Êß¸ ÿÍ ¬Ë ∞ ‚Ë ŸÊ◊ ÄÿÊ „Ò ?

(1) 1-Ä‹Ê⁄UÊ-3-ßÕÊß‹ éÿÍ≈U-2-∞Ÿ-4-ol

(2) 4-Ä‹Ê⁄UÊ-2-ßÕÊß‹ éÿÍ≈U-2-∞Ÿ-1-ol

(3) 5-Ä‹Ê⁄UÊ-3-„Êß«˛UÊÚÄ‚Ë Á◊ÕÊß‹ ¬¥≈U -3-ßŸ

(4) 1-Ä‹Ê⁄UÊ-3-„Êß«˛UÊÚÄ‚Ë Á◊ÕÊß‹ ¬¥≈U -2-ßŸ

32. ß‚ •Á÷Á∑˝§ÿÊ ◊¥ ‘X’ ÄÿÊ „Ê ‚∑§ÃÊ „Ò?

Áfl∑§À¬ —

(1) O3

(2) ‚Ê¥Œ˝ Conc.HNO3

(3) KMnO4

(4) O2
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33. ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ Á∑§‚ •Á÷Á∑˝§ÿÊ ∑§ ¬˝ÁÃ»§‹ ∑§ M§¬ ◊¥ 2,2 «UÊß’˝Ê◊Ê¬˝Ê¬Ÿ ©à¬ÛÊ „ÊªÊ ?
(1) HC ≡ CH+2HBr  →

(2) CH3CH=CHBr+HBr  →

(3) CH3C ≡ CH+2HBr  →

(4) CH3CH=CH2+HBr  →

34. ÁŒ∞ ª∞ ÿÊÒÁª∑§Ê¥ ◊¥ •ÁÃ‚¥ÿÈÇ◊ŸË ¬˝÷Êfl ∑§Ê •fl⁄UÊ„Ë ∑˝§◊ ôÊÊÃ ∑§⁄¥U —
CH3−CH=CH2 (CH3)2CHCH=CH2

   I     II

CH3−CH=CHCH3 (CH3)2CH−CH=CHCH(CH3)2
     III      IV

(1) IV > II > III > I

(2) III > IV > II > I

(3) IV > I > III > II

(4) III > I > IV > II

35. ŒË ªß¸ •Á÷Á∑˝§ÿÊ ◊¥ ©à¬ÊŒ ‘P’ôÊÊÃ ∑§⁄¥U —

(1) CH3CH=CH−CH3

(2) CH3 CH2 CH=CH2

(3)

(4) CH3 CH2 CH2 CH2 OH

36.
2

N
S

 •Á÷Á∑˝§ÿÊ ◊¥ ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ ÄÿÊ ‚’‚ ∑§◊ •Á÷Á∑˝§ÿÊ‡ÊË‹ ⁄U„ÃÊ „Ò ?

(1) CH3 CH2 CH2 CH2 CH2 Br

(2)

(3)

(4)
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37. ∞⁄UÊß‹ „Ò‹Êß«U ∞À∑§Ê„‹ „Ò‹Êß«U ∑§Ë •¬ˇÊÊ∑Î§Ã ∑§ãŒ˝∑§⁄UÊªË ¬˝ÁÃSÕÊ¬Ÿ ∑§Ë ÁŒ‡ÊÊ ◊¥ ∑§◊ •Á÷Á∑˝§ÿÊ‡ÊË‹ „ÊÃ „Ò¥– ß‚∑§Ê ÄÿÊ
∑§Ê⁄UáÊ „Ò?

(1) „Ò‹Ê¡Ÿ ¬⁄U e− ∑§ ∞∑§‹ ÿÈÇ◊ mÊ⁄UÊ Áfl∑§·¸áÊ

(2) •¬ˇÊÊ∑Î§Ã ∑§◊ SÕÊÿË ∑§Ê’Ê¸ÁŸÿ◊ •ÊÿŸ ∑§Ê ÁŸ◊Ê¸áÊ

(3) „Ò‹Ê¡Ÿ •ÊÒ⁄U fl‹ÿ ∑§ ◊äÿ •Ê¥Á‡Ê∑§ Ám∑§ •Ê’¥œ

(4) ¬˝⁄UáÊÊà◊∑§ ¬˝÷Êfl

38. ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ Á∑§‚ ÿÊÒÁª∑§ ∑§ ŸÊß≈˛UÊ¡Ÿ ∑§Ê •Ê∑§‹Ÿ ∑§À«UÊ‹ ÁflÁœ ‚ Á∑§ÿÊ ¡Ê ‚∑§ÃÊ „Ò?

(1)

(2)

(3)

(4)

39. SÃ¥÷ fláÊ¸‹πŸ ◊¥ ÉÊ≈U∑§ ‘A’ ∑§Ê ÁflˇÊ¬áÊ ‚fl¸¬˝Õ◊  ‘A’ •ÊÒ⁄U ‘B’. ∑§ Á◊üÊáÊ ‚ Á∑§ÿÊ ¡ÊÃÊ „Ò– ß‚∑§ •ÊœÊ⁄U ¬⁄U ß‚ ÉÊ≈U∑§
‘A’ ◊¥

(1) ãÿÍŸ Rf, ©ìÊ •Áœ‡ÊÊ·áÊ „Ò–

(2) ãÿÍŸ Rf, ãÿÍŸ •Áœ‡ÊÊ·áÊ „Ò–

(3) ©ìÊ Rf, ©ìÊ •Áœ‡ÊÊ·áÊ „Ò–

(4) ©ìÊ Rf, ãÿÍŸ •Áœ‡ÊÊ·áÊ „Ò–
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40. ‚È∑˝§Ê¡ ◊¥ Áfll◊ÊŸ Ç‹Êß∑§Ê‚Êß«UË ¡È«∏Êfl ∑§Ê ¬˝∑§Ê⁄U „Ò —

(1) •À»§Ê Ç‹Í∑§Ê¡ ∑§Ê C1 - ’Ë≈UÊ »˝§Ä≈UÊ¡ ∑§Ê C2

(2) •À»§Ê Ç‹Í∑§Ê¡ ∑§Ê C1 - ’Ë≈UÊ »˝§Ä≈UÊ¡ ∑§Ê C4

(3) •À»§Ê Ç‹Í∑§Ê¡ ∑§Ê C1 - ’Ë≈UÊ ªÒ‹ÒÄ≈UÊ¡ ∑§Ê C4

(4) •À»§Ê Ç‹Í∑§Ê¡ ∑§Ê C1 - ’Ë≈UÊ Ç‹Í∑§Ê¡ ∑§Ê C4

41. ¬˝Ê≈UËŸ ∑§Ë ÃÎÃËÿ∑§ ‚¥⁄UøŸÊ ∑§ ÁSÕ⁄UË∑§⁄UáÊ ◊¥ ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ ∑§ÊÒŸ ‚Ê ’¥œ ©ûÊ⁄UŒÊÿË Ÿ„Ë¥ „Ò ?

(1) «UÊÿ‚À»§Êß«U ’¥œ

(2) •Ê∑§·¸áÊ ∑§ flÒá«U⁄U flÊ‹ ’‹

(3) •Ê∑§·¸áÊ ∑§ flÒlÈÃ SÕÒÿ¸∑§ ’‹

(4) ¬⁄UÊÚÄ‚Ë ’¥œ

42. ∑§Êß¸ ⁄UÊªË ¬ÊøŸ Áfl∑§Ê⁄U ‚ ª˝Á‚Ã „Ò– ©‚∑§Ë àfløÊ ◊¥ ¡‹Ÿ ¡Ò‚Ë ‚¥flŒŸÊ ©à¬ÛÊ „Ê ⁄U„Ë „Ò •ÊÒ⁄U ◊Èπ ∑§ ŒÊŸÊ¥ ¿UÊ⁄UÊ ◊¥ ‚Í¡Ÿ „Ò
ÃÊ ©‚ ⁄UÊªË ◊¥ ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ Á∑§‚∑§Ë •À¬ÃÊ „Ê ‚∑§ÃË „Ò?

(1) Áfl≈UÊÁ◊Ÿ B1

(2) Áfl≈UÊÁ◊Ÿ  B2

(3) Áfl≈UÊÁ◊Ÿ  B6

(4) Áfl≈UÊÁ◊Ÿ B12

43. «UË ∞Ÿ ∞ ∑§ •áÊÈ•Ê¥ ◊¥ ‡Ê∑¸§⁄UÊ •ÊœÊZ‡Ê „Ò —

(1) α-D-2-Á«U•ÊÚÄ‚Ë ⁄UÊß’Ê¡

(2) α-D-3-Á«U•ÊÚÄ‚Ë ⁄UÊß’Ê¡

(3) β-D-3-Á«U•ÊÚÄ‚Ë ⁄UÊß’Ê¡

(4) β-D-2-Á«U•ÊÚÄ‚Ë ⁄UÊß’Ê¡

44. ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ Á∑§‚ ¬˝ÊÕÁ◊∑§ ∞◊ÊßŸ ∑§Ê ‚¥‡‹·áÊ ªÁ’˝ÿ‹ çÕÒ‹Ë◊Êß«U ‚¥‡‹·áÊ ‚ Ÿ„Ë¥ Á∑§ÿÊ ¡Ê ‚∑§ÃÊ „Ò ?

(1)

(2) CH3CH2CH2NH2

(3)

(4)
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45. ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ ÄÿÊ ßŸ ÃàflÊ¥ ∑§ SÕÊÿË •ÊÚÄ‚Êß«U ∑§Ê ‚„Ë ‚ÍòÊ Ÿ„Ë¥ „Ò ?
(1) N2O3

(2) P2O3

(3) As2O3

(4) Sb2O3

46.  s-•ÊÒ⁄U p-π¥«U ∑§ ÃàflÊ¥ ∑§ ¬˝Õ◊ ‚ŒSÿ ∑§Ê •‚¥ªÃ √ÿfl„Ê⁄U ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ Á∑§‚ ∑§Ê⁄UáÊ ‚ „Ò?

(1) ‹ÉÊÈ •Ê∑§Ê⁄U, ∑§◊ •Êfl‡Ê/ÁòÊíÿÊ •ŸÈ¬ÊÃ, ©ìÊ flÒlÈÈÃ ´§áÊÊà◊∑§ÃÊ

(2) ŒËÉÊ¸ •Ê∑§Ê⁄U, ŒËÉÊ¸ •Êfl‡Ê/ÁòÊíÿÊ •ŸÈ¬ÊÃ, ãÿÍŸ flÒlÈÈÃ ´§áÊÊà◊∑§ÃÊ

(3) ‹ÉÊÈ •Ê∑§Ê⁄U, ŒËÉÊ¸ •Êfl‡Ê/ÁòÊíÿÊ •ŸÈ¬ÊÃ, ãÿÍŸ flÒlÈÃ ´§áÊÊà◊∑§ÃÊ

(4) ‹ÉÊÈ •Ê∑§Ê⁄U, ŒËÉÊ¸ •Êfl‡Ê/ÁòÊíÿÊ •ŸÈ¬ÊÃ, ©ìÊ flÒlÈÃ ´§áÊÊà◊∑§ÃÊ

47. ÁŸêŸÊ¥Á∑§Ã •ÊáÊÈ•Ê¥ ∑§Ê •Ê’¥œ ‹¥’Êß¸ ∑§ •ÊœÊ⁄U ¬⁄U ’…∏Ã ∑˝§◊ ◊¥ √ÿflÁSÕÃ ∑§ËÁ¡∞ —
H2, F2, HF

(1) H2 < HF < F2
(2) H2 < F2 < HF

(3) F2 < H2 < HF

(4) HF < H2 < F2

48. ÁŸêŸÊ¥Á∑§Ã •áÊÈ•Ê¥ ∑§ Ámœ˝ÈflË •ÊÉÊÍáÊ¸ ∑§Ê •Ê⁄UÊ„Ë ∑˝§◊ „Ò —
CH4, CH2Cl2, CHCl3

   I      II    III

(1) II < III < I

(2) I < II < III

(3) I < III < II

(4) III < II < I

49. ∑§ÊÚ‹◊ (A) ◊¥ ©ÁÀ‹ÁπÃ •áÊÈ•Ê¥ ∑§Ê ∑§ÊÚ‹◊ (B) ◊¥ ÁŒ∞ ª∞ ©Ÿ∑§ •Ê∑§Ê⁄U ‚ ‚È◊Á‹Ã ∑§ËÁ¡∞ —

∑§ÊÚ‹◊ (A) ∑§ÊÚ‹◊ (B)

(a) NH3 (i) T •Ê∑§Ê⁄U ∑§Ê

(b) BF3 (ii) øÃÈc»§‹∑§Ëÿ

(c) CHCl3 (iii) ÁòÊ‚◊ŸÃÊˇÊ ‚◊Ã‹Ëÿ

(d) ClF3 (iv) ÁòÊ‚◊ŸÃÊˇÊ Á¬⁄UÊÁ◊«UŸÈ◊Ê

(1) (a) (iii), (b) (i), (c) (ii), (d) (iv)

(2) (a) (iv), (b) (i), (c) (iii), (d) (ii)

(3) (a) (iv), (b) (i), (c) (ii), (d) (iii)

(4) (a) (iv), (b) (iii), (c) (ii), (d) (i)
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50. „Ò‹Ê¡Ÿ ◊¥ •ÊÿÊ«UËŸ ‚ ç‹Ê⁄UËŸ Ã∑§ ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ Á∑§‚◊¥ flÎÁh Ÿ„Ë¥ „ÊÃË „Ò ?

(1) •Ê’¥œ ∑§Ë ‹¥’Êß¸

(2) flÒlÈÃ´§áÊÊà◊∑§ÃÊ

(3) Ãàfl ∑§Ë ¬˝Õ◊ •ÊÿŸË∑§⁄UáÊ ™§¡Ê¸

(4) ©¬øÊÿË ‡ÊÁÄÃ

51. ÁŸêŸÊ¥Á∑§Ã ß‹Ä≈˛UÊÚÁŸ∑§ ÁflãÿÊ‚Ê¥ ∑§ ◊ÒòÊË ß‹Ä≈˛UÊÚŸ (‚ ’¥œÈÃÊ flÊ‹ ß‹Ä≈˛UÊÚŸ) ∑§Ê •Ê⁄UÊ„Ë ∑˝§◊ „Ò–
(a) 1s2 2s2 2p6 3s2 3p5

(b) 1s2 2s2 2p3

(c) 1s2 2s2 2p5

(d) 1s2 2s2 2p6 3s1

Áfl∑§À¬ —

(1) b < d < c < a

(2) a < b < c < d

(3) a < c < b < d

(4) d < c < b < a

52. ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ ÄÿÊ Œ˝ÁflÃ •◊ÊÁŸÿÊ (NH3) ◊¥ ˇÊÊ⁄U œÊÃÈ ∑§ Áfl‹ÿŸ ∑§Ë Áfl‡Ê·ÃÊ Ÿ„Ë¥ „Ò?

(1) Áfl‹ÿŸ ∑§Ê fláÊ¸ ŸË‹Ê „ÊÃÊ „Ò–

(2) ÁSÕ⁄U ⁄U„Ÿ ¬⁄U H2 ©ã◊ÈÄÃ „ÊÃÊ „Ò–

(3) ÁfllÈÃ ∑§Ê øÊ‹∑§ „ÊÃÊ „Ò–

(4) ‚Ê¥ÁŒ˝Ã Áfl‹ÿŸ •ŸÈøÈ¥’∑§Ëÿ „ÊÃÊ „Ò–

53. ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ Á∑§‚ ÿÈÇ◊ ‚ flÊc¬‡ÊË‹ •flSÕÊ ◊¥ Ä‹Ê⁄UÊÁ’˝í«U ‚¥⁄UøŸÊ ©à¬ÛÊ „ÊÃË „Ò ?
(1) BeCl2 and AlCl3
(2) LiCl and MgCl2
(3) MgCl2 and CaCl2
(4) BCl3 and AlCl3

54. ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ Á∑§‚ ∑§ÕŸ ‚ ‹ÒÄ≈UÊ¡ ∑§Ë ¬Á⁄U÷Ê·Ê Ÿ„Ë¥ Á◊‹ÃË „Ò ?

(1) ÿ„ •¬øÊÿ∑§ ‡Ê∑¸§⁄UÊ „Ò–

(2) ÿ„ «UÊß‚Ò∑§⁄UÊß«U „Ò–

(3) ÿ„ •À»§Ê D Ç‹Í∑§Ê¡ •ÊÒ⁄U ’Ë≈UÊ D ªÒ‹Ä≈UÊ¡ ‚ ’ŸÊ „Ò–

(4) ÿ„ ŒÈÇœ ‡Ê∑¸§⁄UÊ „Ò–
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55. ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ Á∑§‚ ÿÈÇ◊ ∑§Ë ‚¥⁄UøŸÊ ∞∑§ ‚◊ÊŸ „Ò ?

(1) XeOF4 •ÊÒ⁄U BrF5
(2) XeO3 •ÊÒ⁄U BrF3
(3) XeF2 •ÊÒ⁄U HClO

(4) XeF6 •ÊÒ⁄U IF7

56. Ãàfl ¡Ê +8 ©¬øÿŸ •flSÕÊ ¬˝ŒÁ‡Ê¸Ã ∑§⁄U ‚∑§ÃÊ „Ò, fl„ „Ò —
(1) Mn

(2) Co

(3) Fe

(4) Os

57. Á¡•Ê‹Êß≈U ∑§ ’Ê⁄U ◊¥ ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ ∑§ÊÒŸ ‚Ê ∑§ÕŸ ‚„Ë Ÿ„Ë¥ „Ò ?

(1) ßŸ∑§Ê ¬˝ÿÊª •ÊÿŸ ÁflÁŸ◊ÿ (•ÊÿŸ ∑§ •ÊŒÊŸ-¬˝ŒÊŸ) ∑§ Á‹∞ Á∑§ÿÊ ¡ÊÃÊ „Ò–

(2) ¬≈˛UÊ⁄U‚ÊÿŸ ©lÊª ◊¥ ßŸ∑§Ê ¬˝ÿÊª ©à¬˝⁄U∑§ ∑§ M§¬ ◊¥ Á∑§ÿÊ ¡ÊÃÊ „Ò–

(3) ÿ ’Ê⁄UÊÁ‚Á‹∑§≈U „Ò¥–

(4) ´§áÊÊfl‡Ê ∑§Ê ‚¥ÃÈÁ‹Ã ∑§⁄UŸ ∑§ Á‹∞ Na+/K+ ∑§Ê ¬˝ÿÊª Á∑§ÿÊ ¡ÊÃÊ „Ò–

58. ‚¥∑˝§◊áÊ Ãàfl Á¡Ÿ◊¥ ¬Á⁄Uflàÿ¸ ©¬øÿŸ •flSÕÊ ŒÎC√ÿ Ÿ„Ë¥ „ÊÃÊ „Ò —

(1) flÒŸÁ«Uÿ◊

(2) ÁŸ∑§‹

(3) S∑Ò§Á«Uÿ◊

(4) ÃÊ◊˝

59. ¬ËÃ‹ ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ Á∑§‚∑§Ë Á◊üÊ œÊÃÈ „Ò?

(1) ÃÊ◊˝ - Á≈UŸ

(2) ÃÊ◊˝ - ¡SÃÊ

(3) Á≈UŸ - ‚Ë‚Ê

(4) ÃÊ◊˝ - ⁄U¡Ã

60. ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ Á∑§‚◊¥ •ÿÈÁÇ◊Ã ß‹Ä≈˛UÊÚŸ ∑§Ë ‚¥ÅÿÊ •Áœ∑§Ã◊ „ÊÃË „Ò ?
(1) Mg2+

(2) Ti3+

(3) V3+

(4) Fe2+



Set-002                      19 Chemistry PGT(LDCE)(1 to 120)

61. TiC •ÊÒ⁄U Mn4N ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ Á∑§‚∑§ ©ŒÊ„⁄UáÊ „Ò¥?

(1) ‚¥∑˝§◊áÊ œÊÃÈ ∑§ ‚„‚¥ÿÊªË ÿÊÒÁª∑§

(2) Á◊üÊœÊÃÈ

(3) œÊÃÈ-•œÊÃÈ ‚Áê◊üÊ

(4) •¥Ã⁄UÊ∑§Ê‡ÊË ÿÊÒÁª∑§

62. ÁŸêŸÊ¥Á∑§Ã ÿÈÇ◊Ê¥ ◊¥ ∑§ÊÒŸ ‚Ê ÿÈÇ◊ ©÷ÿœ◊Ë¸ •ÊÚÄ‚Êß«U ∑§Ê ÿÈÇ◊ „Ò ?
 (1) CrO3, V2O3

(2) CrO, V2O4

(3) Cr2O3, V2O5

(4) CrO5, V2O5

63. KMnO4 ∑§Ë ÃÒÿÊ⁄UË ◊¥ ÁŸêŸÊ¥Á∑§Ã •Á÷Á∑˝§ÿÊ•Ê¥ ¬⁄U ÁfløÊ⁄U ∑§ËÁ¡∞ —

 1 2
2 2 4

 22
4 4

2 MnO   O   MnO

MnO   MnO

→

→

−

− −

+
◊Êäÿ◊

◊Êäÿ◊

◊Êäÿ◊  1 •ÊÒ⁄U ◊Êäÿ◊  2 „Ò¥ ∑˝§◊‡Ê —

(1) ◊Êäÿ◊  1 : •ê‹Ëÿ ; ◊Êäÿ◊  2 : ©ŒÊ‚ËŸ

(2) ◊Êäÿ◊  1 •ÊÒ⁄U ◊Êäÿ◊  2 : ŒÊŸÊ¥ •ê‹Ëÿ

(3) ◊Êäÿ◊  1 : •ê‹Ëÿ; ◊Êäÿ◊  2 : ˇÊÊ⁄UËÿ

(4) ◊Êäÿ◊  1 : ˇÊÊ⁄UËÿ; ◊Êäÿ◊  2 : ©ŒÊ‚ËŸ

64. ÁmfláÊË¸ («UÊß∑˝§Ê◊≈U) Ám´§áÊÊÿŸ ◊¥ „ÊÃË „Ò —

(1) flªÊ¸∑§Ê⁄U Á¬⁄UÊÁ◊«U ¡Ò‚Ë ‚¥⁄UøŸÊ

(2) Cr-O-Cr •Ê’¥œ ∑§ÊáÊ < 1208

(3) ‚÷Ë ‚◊ÊŸ Cr-O •Ê’¥œ

(4) 6 ‚◊ÊŸ Cr-O •Ê’¥œ

65. ‹ÒãÕŸÊÚß«U ∑§ •ÊÚÄ‚Êß«U ∑§Ê ÁŸM§Á¬Ã ∑§⁄UŸ ∑§Ê ‚Ê◊Êãÿ ‚ÍòÊ „Ò —
(1) LnO3

(2) LnO2

(3) Ln2O3

(4) LnO

66. ‹ÒãÕŸÊÚß«U ∑§ ’Ê⁄U ◊¥ ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ ∑§ÊÒŸ ‚Ê ∑§ÕŸ ‚„Ë Ÿ„Ë¥ „Ò ?

(1) ©Ÿ∑§Ë •ÊÿŸ ÁòÊíÿÊ∞¥ La3+ ‚ Lu3+ Ã∑§ ÉÊ≈U ¡ÊÃË „Ò–

(2) ‹ÒãÕŸÊÚß«U ∑§ ‚¥∑È§øŸ ∑§ ∑§Ê⁄UáÊ Zr •ÊÒ⁄U Hf ∑§Ë ¬⁄U◊ÊáÊÈ ÁòÊíÿÊ ∞∑§ ‚◊ÊŸ „ÊÃË „Ò–

(3) ÃŸÈ „Ò‹Ê•ê‹ ‚ ßŸ∑§Ë •Á÷Á∑˝§ÿÊ „ÊŸ ¬⁄U LnX3+Ln(OH)3 ¬˝Ê# „ÊÃÊ „Ò–

(4) Á◊S∑§◊≈U‹ ‹ÒãÕŸÊÚß«U ∑§Ë Á◊üÊœÊÃÈ „Ò–
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67. ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ ÄÿÊ ©¬Ê¬øÿË •Á÷Á∑˝§ÿÊ „Ò ?
(1) K4[Fe(CN)6]+6H2SO4+6H2O → 2K2SO4 +6CO+FeSO4+3(NH4)2SO4

(2) CuSO4+4NH3 →[Cu(NH3)4]SO4

(3) Pb3O4+8HCl→3PbCl2+Cl2+4H2O

(4) FeCl3+K4[Fe(CN)6] →KCl+Fe4[Fe(CN)6]3

68. ŒË ªß¸ •Á÷Á∑˝§ÿÊ ◊¥ —

2
2 3 2 3 33Br   6CO   3 H O  5 Br   BrO   6 HCO→

− − − −

+ + + +

(1) ’˝Ê◊ËŸ ∑§Ê ©¬øÿŸ „ÊÃÊ „Ò •ÊÒ⁄U ∑§Ê’Ê¸Ÿ≈U ∑§Ê •¬øÿŸ „ÊÃÊ „Ò–

(2) ’˝Ê◊ËŸ ∑§Ê •¬øÿŸ „ÊÃÊ „Ò •ÊÒ⁄U ∑§Ê’Ê¸Ÿ≈U ∑§Ê ©¬øÿŸ „ÊÃÊ „Ò–

(3) ©¬ÿ¸ÈÄÃ •Á÷Á∑˝§ÿÊ ©¬øÿŸ-•¬øÿŸ •Á÷Á∑˝§ÿÊ Ÿ„Ë¥ „Ò–

(4) ’˝Ê◊ËŸ ◊¥ ©¬øÿŸ •ÊÒ⁄U •¬øÿŸ ŒÊŸÊ¥ „ÊÃÊ „Ò–

69. ŒË ªß¸ •Á÷Á∑˝§ÿÊ ◊¥ —

ª¥œ∑§ ∑§Ë ©¬øÿŸ •flSÕÊ ◊¥ „ÊŸflÊ‹Ê ¬Á⁄UflÃ¸Ÿ „Ò —
Cr2O7

2−(aq)+3SO3
2−(aq)+8H+(aq) → Cr3+(aq)+3SO4

2−(aq)+4H2O(l)

(1) +6 →+8

(2) +2 →+4

(3) +4 →+6

(4) +3 →+6

70. ÁŒ∞ ª∞ ÿÊÒÁª∑§Ê¥ ◊¥ »§ÊÚS»§Ê⁄U‚ ∑§Ë ©¬øÿŸ •flSÕÊ ∑§Ê ‚„Ë •fl⁄UÊ„Ë ∑˝§◊ „Ò —
POF3, P4, H3PO3, Ca3P2

  (a) (b)    (c)   (d)

(1) a > c > b > d

(2) a > b > c > d

(3) b > d > a > c

(4) d > b > a > c

71. ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ ÄÿÊ ©÷Œ¥ÃË ‚¥‹ÇŸ Ÿ„Ë¥ „Ò ?
(1) CNs

(2) SCNs

(3) NO2
s

(4) C2O4
2s

72. Ni(CO)4, [Ni(CN)4]
2− •ÊÒ⁄U [NiCl4]

2−◊¥

(1) Ni(CO)4 ¬˝ÁÃøÈê’∑§Ëÿ „Ò •ÊÒ⁄U [NiCl4]
2−  •ÊÒ⁄U  [Ni(CN)4]

2− •ŸÈøÈ¥’∑§Ëÿ „Ò¥–

(2) Ni(CO)4  •ÊÒ⁄U  [Ni(CN)4]
2−  ¬˝ÁÃøÈê’∑§Ëÿ „Ò¥ •ÊÒ⁄U  [Ni Cl4]

2−  •ŸÈøÈ¥’∑§Ëÿ „Ò¥–

(3) [Ni Cl4]
2−  •ÊÒ⁄U  [Ni(CN)4]

2− ¬˝ÁÃøÈê’∑§Ëÿ „Ò¥ •ÊÒ⁄U  Ni(CO)4
 •ŸÈøÈ¥’∑§Ëÿ „Ò¥–

(4) Ni(CO)4 •ÊÒ⁄U [Ni Cl4]
2− ¬˝ÁÃøÈê’∑§Ëÿ „Ò¥ •ÊÒ⁄U  [Ni(CN)4]

2− •ŸÈøÈ¥’∑§Ëÿ „Ò¥–
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73. K [Co(CO)4] is ◊¥ ∑§Ê’ÊÀ≈U ∑§Ë ©¬øÿŸ ‚¥ÅÿÊ „Ò–
(1) +3

(2) −3

(3) +1

(4) −1

74. ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ Á∑§‚ •Á÷⁄¥U¡∑§/∞¥¡Êß◊ ◊¥ ∑§Ê’ÊÀ≈U „ÊÃÊ „Ò ?

(1) „Ë◊ÊÇ‹ÊÁ’Ÿ

(2) Áfl≈UÊÁ◊Ÿ B12
(3) ∑§Ê’Ê¸Ä‚Ë¬å≈UÊß«U¡

(4) Ä‹Ê⁄UÊÁ»§‹ („Á⁄UÃ ‹fl∑§)

75. ∑§Ê’ÊÀ≈U ∑§ Á∑§‚ ‚Áê◊üÊ ◊¥ íÿÊÁ◊ÁÃ∑§ •ÊÒ⁄U ¬˝Ê∑§ÊÁ‡Ê∑§ ŒÊŸÊ¥ ‚◊Êflÿfl ¬˝ŒÁ‡Ê¸Ã „ÊÃ „Ò¥?
(1) [Co(NH3)2 Cl2]

+

(2) [Co(en)2 Cl2]
+

(3) [Co(NH3)5 Cl]
2+

(4) [Co(NH3)5 NO2]
2+

76. œÊÃÈ ∑§Ê’Ê¸ÁŸ‹ ◊¥ ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ ∑§ÊÒŸ ‚Ê ∑§ÕŸ M-C •Ê’¥œ ∑§Ë Áfl‡Ê·ÃÊ Ÿ„Ë¥ „Ò ?

(1) ß‚◊¥ σ •ÊÒ⁄U π ŒÊŸÊ¥ Áfl‡Ê·∑§ „ÊÃ „Ò¥–

(2) ß‹Ä≈˛UÊÚŸ ∑§Ê ∞∑§‹ ÿÈÇ◊ ∑§Ê’Ê¸ÁŸ‹ ‚ œÊÃÈ ◊¥ σ •Ê’¥œ ’ŸÊÃÊ „Ò–

(3) ß‹Ä≈˛UÊÚŸ ∑§Ê ∞∑§‹ ÿÈÇ◊ œÊÃÈ ‚ ∑§Ê’Ê¸ÁŸ‹ ∑§ ∑§ˇÊ ’¥äÿ ‚ π •Ê’¥œ ’ŸÊÃÊ „Ò–

(4) œÊÃÈ ∑§ ß‹Ä≈˛UÊÚŸ ∑§Ê ∞∑§‹ ÿÈÇ◊ ∑§Ê’Ê¸ÁŸ‹ ∑§ ¬˝ÁÃ •Ê’¥œ ∑§ˇÊÊ¥ ◊¥ π •Ê’¥œ ∑§Ê ÁŸ◊Ê¸áÊ ∑§⁄UÃÊ „Ò–

77. EDTA ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ Á∑§‚∑§ ©¬øÊ⁄U ◊¥ ¬˝ÿÈÄÃ „ÊÃÊ „Ò?

(1) ‚Ë‚Ê Áfl·ÊÄÃŸ

(2) ÃÊ◊˝ Áfl·ÊÄÃŸ

(3) ‹ÊÒ„ Áfl·ÊÄÃŸ

(4) ∑Ò¥§‚⁄U

78. ÁŸêŸÊ¥Á∑§LÃ ◊¥ ‚ Á∑§‚ ÿÈÇ◊ ◊¥ ŒÊŸÊ¥ œÊÃÈ∞¥ ‚flÊ¸ìÊ ©¬øÿË •flSÕÊ ◊¥ „ÊÃË „Ò¥ ?
(1) [Fe(CN)6]

4−, [Co(CN)6]
3−

(2) CrO2Cl2, MnO4
−

(3) TiO3, MnO2

(4) [Co(CN)6]
3−, MnO2
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79. ÁŸêŸÊ¥Á∑§Ã •Á÷Á∑˝§ÿÊ ¬⁄U ÁfløÊ⁄U ∑§ËÁ¡∞ —

◊¥ P „Ò —

(1)

(2)

(3)

(4)
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80. ŒË ªß¸ •Á÷Á∑˝§ÿÊ Á∑§‚∑§Ê ©ŒÊ„⁄UáÊ „Ò ?

2 4H SO

3 2 3 2 2 3
413 K

CH CH OH  CH CH OCH CH→

(1) ∑§ãŒ˝∑§⁄UÊªË ¬˝ÁÃSÕÊ¬Ÿ ∞∑§ÊÁáfl∑§ •Á÷Á∑˝§ÿÊ

(2) ∑§ãŒ˝∑§⁄UÊªË ¬˝ÁÃSÕÊ¬Ÿ Ám•ÊÁáfl∑§ •Á÷Á∑˝§ÿÊ

(3) ∑§ãŒ˝∑§⁄UÊªË ÿÊ¡∑§ •Á÷Á∑˝§ÿÊ

(4) flÒlÈÃ⁄UÊªË ¬˝ÁÃSÕÊ¬Ÿ •Á÷Á∑˝§ÿÊ

81. ⁄UÄÃ ◊¥ Ç‹Í∑§Ê¡ (C6H12O6) ∑§Ê ‚Ê¥Œ˝áÊ 0.9g/L, „Ò ÃÊ Ç‹Í∑§Ê¡ ∑§Ë ◊Ê‹⁄UÃÊ „ÊªË —
(1) 0.5 M

(2) 5.0 M

(3) 50 M

(4) 0.005 M

82. ∑§Êß¸ Áfl‹ÿŸ Á¡‚◊¥ 500 ª˝Ê◊ ¡‹ ◊¥ 18.25 ª˝Ê◊ „Êß«˛UÊÄ‹ÊÁ⁄U∑§ ªÒ‚ „Ò ©‚∑§Ë ◊Ê‹⁄UÃÊ „ÊªË —
(1) 0.05 m

(2) 0.5 m

(3) 1.5 m

(4) 1.0 m

83. •Ê‚ÁflÃ ¡‹ ◊¥ 18.25 ª˝Ê◊ ‚ÊÁ«Uÿ◊ „Êß«˛UÊÚÄ‚Êß«U ∑§Ê Áfl‹ÿ ∑§⁄UŸ ‚ 200 Á◊‹Ë ‹Ë. Áfl‹ÿŸ ÃÒÿÊ⁄U „ÊÃÊ „Ò, ÃÊ ‚ÊÁ«Uÿ◊
„Êß«˛UÊÚÄ‚Êß«U ∑§ Áfl‹ÿŸ ∑§Ë ◊Ê‹⁄UÃÊ „ÊªË —
(1) 2.00 M

(2) 2.28 M

(3) 1.30 M

(4) 2.5 M

84. ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ Á∑§‚◊¥ ‚’‚ •Áœ∑§ •ÊÿUŸ „ÊÃÊ „Ò ?

(1) 50 ª˝Ê◊ NaCl (‚ÍòÊ Œ˝√ÿ◊ÊŸ 58)

(2) 50 ª˝Ê◊ K2O (‚ÍòÊ Œ˝√ÿ◊ÊŸ 94)

(3) 50 ª˝Ê◊ Na2O (‚ÍòÊ Œ˝√ÿ◊ÊŸ 62)

(4) 50 ª˝Ê◊ CaCl2 (‚ÍòÊ Œ˝√ÿ◊ÊŸ 111)

85. n=2, l=1 •ÊÒ⁄U n=4, l=2 flÊ‹ ∑§ˇÊ ∑§ ¬ŒÊÁ÷Á„Ã ŸÊ◊ „Ò¥, ∑˝§◊‡Ê— ?

(1) 3s •ÊÒ⁄U 5p

(2) 2p •ÊÒ⁄U 4d

(3) 3p •ÊÒ⁄U 5d

(4) 2s •ÊÒ⁄U 4p
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86. ÁŸêŸÊ¥Á∑§Ã ¬˝¡ÊÁÃÿÊ¥ ¬⁄U ÁfløÊ⁄U ∑§ËÁ¡∞ Cls, Ar •ÊÒ⁄U Kr

•ÊÿŸË∑§⁄UáÊ ™§¡Ê¸ ∑§Ê ‚„Ë •Ê⁄UÊ„Ë ∑˝§◊ „ÊªÊ —
(1) Ar < Kr < Cls

(2) Cls < Ar < Kr

(3) Ar < Cls < Kr

(4) Kr < Ar < Cls

87. ŸËø øÊ⁄U ß‹Ä≈˛UÊÚŸÊ¥ ∑§Ë ÄflÊ¥≈U◊ ‚¥ÅÿÊ ŒË ªß¸ „Ò–

(i) n=4, l=2, ml=−2, ms=
1

2
 −

(ii) n=3, l=2, ml=1, ms=
1

2
 +

(iii) n=4, l=1, ml=0, ms=
1

2
 +

(iv) n=5, l=1, ml=0, ms=
1

2
 −

©Ÿ∑§Ë ™§¡Ê¸ ∑§Ê ‚„Ë •Ê⁄UÊ„Ë ∑˝§◊ „ÊªÊ —
(1) i < ii < iv < iii

(2) ii < iii < i < iv

(3) i < ii < iii < iv

(4) iii < ii < iv < i

88. Ä‹Ê⁄UËŸ ŒÊ ‚◊SÕÊÁŸ∑§ M§¬ Cl-37 •ÊÒ⁄U Cl-35;  ◊¥ Áfll◊ÊŸ „ÊÃÊ „Ò– ß‚∑§Ê ¬⁄U◊ÊáÊÈ Œ˝√ÿ◊ÊŸ 35.5. „Ò– ß‚‚ ÁŸM§Á¬Ã „ÊÃÊ
„Ò Á∑§  Cl-37 •ÊÒ⁄U Cl-35 ∑§Ê •ŸÈ¬ÊÃ „Ò ‹ª÷ª —
(1) 1:2

(2) 1:1

(3) 1:3

(4) 3:1

89. •¬ŸË ÃË‚⁄UË ∑§ˇÊÊ ◊¥ ∞∑§ ¬ÍáÊ¸ ÉÊÍáÊ¸Ÿ ◊¥ ’Ê⁄U ß‹Ä≈˛UÊÚŸ mÊ⁄UÊ ÁŸÁ◊¸Ã Ã⁄¥UªÊ¥ ∑§Ë ‚¥ÅÿÊ „ÊªË–
(1) 2λ

(2) 3λ

(3) 4λ

(4) 5λ

90. ÁŸêŸÊ¥Á∑§Ã ¬˝¡ÊÁÃ ∑§Ë ÁòÊíÿÊ•Ê¥ ∑§Ë ’…∏ÃË „Èß¸ ‹¥’Êß¸ ∑§Ê ‚„Ë ∑˝§◊ „Ò —

F−, 2
2O
− , Na+ •ÊÒ⁄U Mg2+

(1) O2− < F− < Mg2+ < Na+

(2) O2− < F− < Na+ < Mg2+

(3) F− < O2− <  Mg2+ < Na+

(4) Mg2+ <  Na+ < F− < O2−
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91. ∑§ˇÊËÿ ∑§ÊáÊËÿ ‚¥flª ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ Á∑§‚ ¬⁄U ÁŸ÷¸⁄U ∑§⁄UÃÊ „Ò?

(1) n •ÊÒ⁄U l

(2) n •ÊÒ⁄U ml

(3) ml •ÊÒ⁄U ms

(4) ∑§fl‹ l

92. 4P ∑§ˇÊ ∑§ ÁòÊíÿ •Ê‚¥Áœ •ÊÒ⁄U ∑§ÊáÊËÿ •Ê‚¥ÁœÿÊ¥ ∑§Ë ‚¥ÅÿÊ „Ò ∑˝§◊‡Ê—
(1) 1, 2

(2) 2, 1

(3) 3, 2

(4) 4, 1

93. 0.1 Á∑§‹Êª˝Ê◊ Œ˝√ÿ◊ÊŸ ∑§Ê ∑§Êß¸ ª¥Œ  10 m s−1.∑§ flª ‚ ‚¥øÁ‹Ã „Ê ⁄U„Ê „Ò– ª¥Œ ‚ ‚„’h Ã⁄¥UªŒÒäÿ¸ „ÊªÊ

(h=6.63×10−34 J s •ÊÒ⁄U J=kg m2 s−2)

(1) 5.62×10−34m

(2) 6.63×10−34m

(3) 6.63×10−32m

(4) 6.63×10−35m

94. ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ Á∑§‚∑§Ê •Ê’¥œ ∑§ÊáÊ 908 ∑§ ‚flÊ¸Áœ∑§ Ÿ¡ŒË∑§ „ÊÃÊ „Ò ?
(1) NH3

(2) H2S

(3) H2O

(4) CH4

95. CO2 ∑§Ë ‚¥⁄UøŸÊ ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ Á∑§‚∑§ ‚◊ÊŸ „ÊÃË „Ò¥?
(1) SO2

(2) SnCl2
(3) C2H2

(4) NO2

96. Ám’Ê⁄UŸ ◊¥ ’Ê⁄UÊŸ ∑§Ê ‚¥∑§⁄UáÊ „Ò —
(1) sp

(2) sp2

(3) sp3

(4) dsp2

97. ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ Á∑§‚∑§Ë ‚¥⁄UøŸÊ ÁòÊ‚◊ŸÃÊˇÊ (ÁòÊ∑§ÊáÊË ‚◊Ã‹∑§) „ÊÃË „Ò ?
(1) CO2

(2) NO2

(3) N2O

(4) SO2
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98. HBr ∑§Ê Ámœ˝ÈflË •ÊÉÊÍáÊ¸ 2.6×10−30 Cm „Ò •ÊÒ⁄U •ãÃ— ¬⁄U◊ÊÁáfl∑§ •¥Ã⁄UÊ‹ 141 pm „Ò– ÃÊ HBr ∑§Ë •ÊÿŸÿÈÄÃ ‚¥ÅÿÊ
∑§Ê ¬˝ÁÃ‡ÊÃ „ÊªÊ (ß‹Ä≈˛UÊÚŸ •Êfl‡Ê=1.6×10−19C} :

(1) 11.5%

(2) 15%

(3) 10%

(4) 13%

99. 1 ◊Ê‹ Œ˝fl ∑§Ê ÃÊ¬∑˝§◊ ß‚  750 ¡Í‹ ™§¡Ê¸, ©c◊Ê ¬˝flÊÁ„Ã ∑§⁄U ’…∏ÊÿÊ ¡ÊÃÊ „Ò– ÿ„ ¬˝‚ÊÁ⁄UÃ „Ê∑§⁄U 200 ¡Í‹ ∑§Êÿ¸ ∑§⁄UÃÊ „Ò–
ÃÊ Œ˝fl ∑§Ë •Ê¥ÃÁ⁄U∑§ ™§¡Ê¸ ◊¥ Á∑§ÃŸÊ ¬Á⁄UflÃ¸Ÿ „ÊªÊ–
(1) +950J

(2) −950J

(3) +550J

(4) −550J

100. ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ ∑§ÊÒŸ ‚Ê ∑§ÕŸ ‚„Ë Ÿ„Ë¥ „Ò?

(1) ∆U √ÿÈà∑˝§◊áÊËÿ •ÊÒ⁄U •√ÿÈà∑˝§◊áÊËÿ ¬˝Á∑˝§ÿÊ ◊¥ ∑§Êß¸ Áfl÷Œ Ÿ„Ë¥ ∑§⁄UÃÊ ¡’Á∑§ ∆S ∑§⁄UÃÊ „Ò–

(2) ∆S∑È§‹=∆SÃ¥òÊ=∆S¬Á⁄Ufl‡Ê < •√ÿÈà∑˝§◊áÊËÿ ¬˝∑˝§◊ ∑§ Á‹∞ ‡ÊÍãÿ

(3) ◊ÊŸ∑§ ∞¥≈˛UÊ¬Ë 
298S
� CO2(g) ∑§Ë 

298S
� CO(g) ‚ •Áœ∑§ „ÊÃË „ÒU

(4) Á∑§‚Ë Œ˝√ÿ ∑§Ë ◊ÊŸ∑§ ∞¥≈˛UÊ¬Ë 
298S
� , 298K •ÊÒ⁄U 1 ÷Ê⁄U ŒÊ’ ¬⁄U ◊Ê‹⁄U ∞¥≈˛UÊ¬Ë „ÊÃË „Ò •ÊÒ⁄U ß‚∑§Ë ß∑§Êß¸

Jk−1 mol−1 „Ò

101. N2+3H2→ 2NH3 •Á÷Á∑˝§ÿÊ ÁŸÿÃ ÃÊ¬∑˝§◊ •ÊÒ⁄U ŒÊ’ ¬⁄U ∑§Ë ¡ÊÃË „Ò– ÿÁŒ ∆H •ÊÒ⁄U ∆U ¬ÍáÊ¸ ©c◊Ê „Ò¥ •ÊÒ⁄U ß‚
•Á÷Á∑˝§ÿÊ ◊¥ •Ê¥ÃÁ⁄U∑§ ™§¡Ê¸ ◊¥ ∑˝§◊‡Ê— ¬Á⁄UflÃ¸Ÿ „ÊÃÊ „Ò ÃÊ ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ ∑§ÊÒŸ ∑§ÕŸ ‚„Ë „Ò ?
(1) ∆H=O

(2) ∆H=∆U

(3) ∆H < ∆U

(4) ∆H > ∆U

102. ÁŸêŸ •Á÷Á∑˝§ÿÊ•Ê¥ ¬⁄U ÁfløÊ⁄U ∑§ËÁ¡∞.
(a) C(g)+4H(g) → CH4(g); ∆H=x kJ mol−1

(b) C(graphite)+2H2(g)→CH4(g); ∆H=y kJ mol−1

©¬ÿ¸ÈÄÃ •Á÷Á∑˝§ÿÊ•Ê¥ ∑§ •ÊœÊ⁄U ¬⁄U ‚„Ë Áfl∑§À¬ øÈÁŸ∞–
(1) x=y

(2) x=2y

(3) x > y

(4) x < y
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103. Á∑§‚Ë ß¥œŸ ∑§ÊD∑§ ◊¥ ¡’ Á◊ÕŸÊ‹ ∑§Ê ¬˝ÿÊª ßZœŸ ∑§ M§¬ ◊¥ •ÊÒ⁄U •ÊÚÄ‚Ë¡Ÿ ∑§Ê ¬˝ÿÊª •ÊÚÄ‚Ë∑§Ê⁄U∑§ ∑§ M§¬ ◊¥ Á∑§ÿÊ ¡ÊÃÊ
„Ò ÃÊ ÁŸêŸÊ¥Á∑§Ã •Á÷Á∑˝§ÿÊ „ÊÃË „Ò–

CH3OH(l)+
3

2

O2(g) →CO2(g)+2H2O(l)

ÿÁŒ CH3OH, CO2 •ÊÒ⁄ U H2O ∑§ ÁŸ◊Ê ¸áÊ ∑§ Á‹∞ ◊ÊŸ∑§ ◊ÈÄÃ ™§¡Ê ¸ ∑ ˝§◊‡Ê— −166.0, −394.0 •ÊÒ⁄ U
−237.0 kJ mol−1 „Ò •ÊÒ⁄U Á◊ÕŸÊÚ‹ ∑§ Œ„Ÿ ∑§Ë ◊ÊŸ∑§ ¬ÍáÊÊ¸c◊Ê−726.0 kJ mol−1, „Ò ÃÊ Áªé‚ ™§¡Ê¸ ∑§Ê ©¬ÿÊªË ∑§Êÿ¸
◊¥ ‚¥¬Á⁄UflÃ¸Ÿ ∑§Ë ˇÊ◊ÃÊ „ÊªË —
(1) 90%

(2) 85%

(3) 80%

(4) 96%

104. ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ ∑§ÊÒŸ ‚Ê ∑§ÕŸ ‚„Ë Ÿ„Ë¥ „Ò¥ ?

(1) ©à¬˝⁄U∑§ ÁŸÁ◊¸Ã ©à¬ÊŒ ∑§Ë ◊ÊòÊÊ ∑§Ê ¬˝÷ÊÁflÃ Ÿ„Ë¥ ∑§⁄UÃÊ „Ò–

(2) ‚¥ÉÊ^Ÿ Á‚hÊ¥Ã ªÒ‚ ◊¥ Ám•ÊÁáfl∑§ •Á÷Á∑˝§ÿÊ ∑§ Á‹∞ ‚flÊ¸Áœ∑§ ©¬ÿÈÄÃ „Ò–

(3) Á∑§‚Ë ÷Ë ¬˝ÁÃÁ∑˝§ÿÊ ∑§Ê Œ⁄U ÁŸÿÃÊ¥∑§ ÃÊ¬∑˝§◊ ∑§ ‚ÊÕ ø⁄UÉÊÊÃÊ¥∑§Ë flª ‚ ’…∏ÃÊ „Ò–

(4) ‚Á∑˝§ÿŸ ∑§Ë ◊ÈÄÃ ™§¡Ê¸ ∑§Ê ◊ÊŸ Á¡ÃŸÊ •Áœ∑§ „ÊªÊ Œ⁄U ÁŸÿÃÊ¥∑§ ∑§Ê ◊ÊŸ ÷Ë ©ÃŸÊ „Ë •Áœ∑§ „ÊªÊ–

105. ‡ÊÍãÿ ∑˝§◊ •Á÷Á∑˝§ÿÊ ∑§Ê ÁŸM§¬Ÿ ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ Á∑§‚ ß∑§Êß¸ ‚ „ÊÃÊ „Ò ?
(1) s−1

(2) L mol−1 s−1

(3) mol L−1 s−1

(4) mol−2 s−1 L2

106. •Ê⁄UÁŸ•‚ ‚◊Ë∑§⁄UáÊ ∑§ •ŸÈ‚Ê⁄U Œ⁄U ∑§Ê √ÿÄÃ Á∑§ÿÊ ¡Ê ‚∑§ÃÊ „Ò–
k=Ae−E/RT

ß‚ ‚◊Ë∑§⁄UáÊ ◊¥ E Á∑§‚ ÁŸM§Á¬Ã ∑§⁄UÃÊ „Ò ?

(1) ™§¡Ê¸ ◊¥ •áÊÈ•Ê¥ ∑§Ê Á÷ãŸ (¬˝÷Ê¡Ÿ) •Á÷Á∑˝§ÿÊ ∑§Ë ‚¥Á∑˝§ÿ ™§¡Ê¸ ‚ •Áœ∑§ „ÊÃÊ „Ò–

(2) T ÃÊ¬◊ÊŸ ¬⁄U •Á÷∑§◊¸∑§ •áÊÈ•Ê¥ ∑§Ë ∑È§‹ ™§¡Ê¸

(3) fl„ ™§¡Ê¸ Á¡‚∑§ ©¬⁄U ‚÷Ë ‚¥ÉÊ^∑§ •áÊÈ•Ê¥ ∑§Ë •Á÷Á∑˝§ÿÊ „ÊªË–

(4) fl„ ™§¡Ê¸ Á¡‚∑§ ŸËø ‚¥ÉÊ^∑§ •áÊÈ•Ê¥ ∑§Ë •Á÷Á∑˝§ÿÊ Ÿ„Ë¥ „ÊªË–

107. A ∑§Ê B ◊¥ ‚¥¬Á⁄UflÃ¸Ÿ (•ÕÊ¸Ã˜ A→B) ¬˝Õ◊ ∑˝§◊ ∑§Ë •Á÷Á∑˝§ÿÊ „Ò– ÿÁŒ k •Á÷Á∑˝§ÿÊ ∑§Ê Œ⁄U ÁŸÿÃÊ¥∑§ „Ò ÃÊ A ∑§ 99.9%
∑§ B ◊¥ ‚¥¬Á⁄UflÁÃ¸Ã „ÊŸ ◊¥ Á∑§ÃŸÊ ‚◊ÿ ‹ªªÊ?

(1)
6.909

k

(2)
0.693

k

(3)
0.093

k

(4)
9.96

k
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108. ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ ∑§ÊÒŸ ‚Ê ∑§ÕŸ ‚„Ë Ÿ„Ë¥ „Ò–

(1) ¬˝Õ◊ ø⁄UáÊËÿ •Á÷Á∑˝§ÿÊ ∑§ ∞∑§Ë∑Î§Ã Œ⁄U ‚◊Ë∑§⁄UáÊ ∑§Ê ln [A]t=ln [A]ο−kt ‚ ÁŸM§Á¬Ã Á∑§ÿÊ ¡Ê ‚∑§ÃÊ „Ò–

(2) ¬˝Õ◊ ∑˝§◊ ∑§Ë •Á÷Á∑˝§ÿÊ ◊¥ „ÊŸ flÊ‹ ’„ÈÃ •Áœ∑§ ˇÊÿ ∑§Ê  [A]t=[A]οe
−kt ‚ ÁŸM§Á¬Ã Á∑§ÿÊ ¡Ê ‚∑§ÃÊ „Ò–

(3) ¬˝Õ◊ ∑˝§◊ ∑§Ë •Á÷Á∑˝§ÿÊ ∑§ Á‹∞ 1
2

ln2
t   

k
=

(4) ÁmÃËÿ ∑˝§◊ ∑§Ë •Á÷Á∑˝§ÿÊ ∑§ Á‹∞ k ∑§Ë ÿÍÁŸ≈U ∑§Ê dm2 mol−1 s−2 ‚ ÁŸL§Á¬Ã Á∑§ÿÊ ¡ÊÃÊ „Ò–

109. ¡’ X ∑§Ê 3.0 mol •ÊÒ⁄U Y ∑§Ê 1.0 mol ∑§Ê 1.0 L ∑§ ¬ÊòÊ ◊¥ Á◊ÁüÊÃ Á∑§ÿÊ ¡ÊÃÊ „Ò ÃÊ ÁŸêŸÊ¥Á∑§Ã ¬˝ÁÃÁ∑˝§ÿÊ „ÊÃË „Ò–
X(g)+Y(g)º2Z(g)

‚Êêÿ Á◊üÊáÊ ◊¥ Z ∑§Ê  0.50 mol •¥ÃÁfl¸c≈U „Ò– ÃÊ •Á÷Á∑˝§ÿÊ ∑§ ‚Êêÿ ÁSÕ⁄Ê¥∑§ ∑§Ê ◊ÊŸ „ÊªÊ–
(1) 0.15

(2) 0.12

(3) 0.14

(4) 0.80

110. ÁŸêŸÊ¥Á∑§Ã •Á÷Á∑˝§ÿÊ •ÕÊ¸Ã

N2+2O2º2NO2+©c◊Ê ◊¥

ÿÁŒ N2 ∑§ 5 mol, O2 ∑§ 7 mol •ÊÒ⁄U NO2 ∑§ 0.10 mol Á∑§‚Ë ÃÊ¬◊ÊŸ ¬⁄U 1.5L ‹Ë≈U⁄U ∑§ ¬ÊòÊ ◊¥ ‚Êêÿ M§¬ ‚ ⁄Uπ ª∞
„Ò¥ ÃÊ ‚Êêÿ ÁSÕ⁄UÊ¥∑§ ∑§Ê ◊ÊŸ „ÊªÊ —
(1) 2.5×10−5

(2) 4.6×10−4

(3) 6.1×10−5

(4) 5.6×10−5

111. NaOH ∑§Ê Áfl‹ÿŸ 5.0×10−2M. „Ò– ÃÊ ß‚∑§Ê pH „ÊªÊ–  {¡„Ê¥ log 2=0.3„Ò} :
(1) 14

(2) 12.7

(3) 7.8

(4) 10.5

112. Á‚Àfl⁄U ∞‚Ë≈U≈U ∑§ ‚¥ÃÎ# Áfl‹ÿŸ CH3COOAg  ◊¥  2×10−3mol Á‚Àfl⁄U •ÊÿŸ ¬˝ÁÃ ‹Ë≈U⁄U ∑§Ê Áfl‹ÿŸ „Ò– ÃÊ
CH3COOAg ∑§ Á‹∞ Ksp ∑§Ê Áfl‹ÿÃÊ ªÈáÊŸ»§‹ „ÊªÊ —
(1) 4×10−3

(2) 4×10−6

(3) 2×10−3

(4) 2×10−5

113. øÊ⁄U •ê‹ A, B, C •ÊÒ⁄U D ∑§Ê ‚Ê◊Êãÿ ˇÊÊ⁄U ◊¥ ©ŒÊ‚ËŸË∑§⁄UáÊ ∑§⁄UŸ ∑§ ¬‡øÊÃ ©ŒÊ‚ËŸË∑§⁄UáÊ ∑§Ë ¬ÍáÊÊ¸c◊Ê ∑˝§◊‡Ê— 57.7,
39.7, 47.3 •ÊÒ⁄U 52.3 kJ mol−1 „Ò ÃÊ ßŸ◊¥ ‚flÊ¸Áœ∑§ ∑§◊¡Ê⁄U •ê‹ „Ò ;
(1) A

(2) B

(3) C

(4) D
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114. Áfl‹ÿŸ ∑§ ÁŸêŸÊ¥Á∑§Ã ÿÈÇÿÊ¥ ◊¥ ∞∑§ ‚◊ÊŸ ÃÊ¬∑˝§◊ ¬⁄U Á∑§‚ ÿÈÇ◊ ∑§ ‚◊¬⁄UÊ‚Ê⁄UË „ÊŸ ∑§Ë ¬˝àÿÊ‡ÊÊ „Ò ?

(1) 0.1M ÿÍÁ⁄UÿÊ •ÊÒ⁄U 0.2 M MgCl2
(2) 0.1M ÿÍÁ⁄UÿÊ •ÊÒ⁄U  0.2 M NaCl

(3) 0.1M NaCl •ÊÒ⁄U  0.1 M Na2SO4

(4) 0.1M Ca(NO3)2 •ÊÒ⁄U  0.1 M Na2SO4

115. ≈UÊÚ‹ÈßŸ flÊc¬ •flSÕÊ ◊¥ ’¥¡ËŸ •ÊÒ⁄U ≈UÊÚ‹ÈßŸ ∑§ Áfl‹ÿŸ ◊¥ ‚Êêÿ „Ò Á¡‚◊¥ ≈UÊÚ‹ÈßŸ ∑§Ê ◊Ê‹ ¬˝÷Ê¡ (Á÷ÛÊ 0.05.„Ò– ÿÁŒ ‡ÊÈäŒ
’¥¡ËŸ ∑§Ê flÊc¬Ëÿ ŒÊ’ 119 ≈UÊÚ⁄U „Ò •ÊÒ⁄U ≈UÊÚ‹ÈßŸ ∑§Ê flÊc¬Ëÿ ŒÊ’ 37.0 ≈UÊÚ⁄U „Ò ÃÊ ß‚Ë ÃÊ¬∑˝§◊ ¬⁄U ≈UÊÚ‹ÈßŸ ∑§Ê ◊Ê‹ Á÷ãŸ
flÊc¬Ëÿ •flSÕÊ ◊¥ ÄÿÊ „ÊªÊ?
(1) 0.462

(2) 0.237

(3) 0.506

(4) 0.325

116. flÒlÈÃ •¬ÉÊ≈˜Uÿ ∑§ Áfl‹ÿŸ ∑§Ë øÊ‹∑§ÃÊ ∑§ ’Ê⁄U ◊¥ ÁŸêŸÊ¥Á∑§Ã ◊¥ ‚ ∑§ÊÒŸ ‚Ê ∑§ÕŸ ª‹Ã „Ò ?

(1) Á∑§‚Ë Áfl‹ÿŸ ∑§Ë øÊ‹∑§ÃÊ Áfl‹ÿŸ ∑§Ë ‡ÿÊŸÃÊ ¬⁄U ÁŸ÷¸⁄U „Ò–

(2) Áfl‹ÿŸ ∑§Ë øÊ‹∑§ÃÊ •ÊÿŸÊ¥ ∑§ •Ê∑§Ê⁄U ¬⁄U ÁŸ÷¸⁄U ∑§⁄UÃË „Ò–

(3) Áfl‹ÿŸ ∑§Ë øÊ‹∑§ÃÊ ÃÊ¬∑˝§◊ ’…∏Ÿ ‚ ’…∏ÃË „Ò–

(4) øÊ‹∑§ÃÊ Áfl‹ÿŸ ◊¥ Áfll◊ÊŸ •ÊÿŸÊ¥ ∑§Ë Áfl‹ÿÃÊ ¬⁄U ÁŸ÷¸⁄U Ÿ„Ë¥ „ÊÃË „Ò–

117. 2 3

2 7 2

2 3

4

o o

Cr O Cr Cl Cl

o o

MnO Mn Cr Cr

E   1.33 V, E   1.36 V

E   1.51 V, E   0.74 V

− + −

− + +

= =

= =−

ÁŒÿÊ ªÿÊ „Ò–

©¬ÿ¸ÈÄÃ ŒûÊ ∑§ •ÊœÊ⁄U ¬⁄U ôÊÊÃ ∑§⁄¥U Á∑§ ¬˝’‹Ã◊ •¬øÊÿ∑§ •Á÷∑§ÃÊ¸ ∑§ÊÒŸ ‚Ê „Ò ?
(1) Cr3+

(2) Mn2+

(3) Cr

(4) Cl−

118. ÁŸêŸÊ¥Á∑§Ã E8 ◊ÊŸÊ¥ ¬⁄U ÁfløÊ⁄U ∑§ËÁ¡∞

3 2

o

Fe Fe
E   0.77 V
+ +
=  •ÊÒ⁄U 

2

o

Sn Sn
E   0.14 V 

+
=−  ÃÊ

Sn(s)+2Fe3+(¡‹Ëÿ)→2Fe2+(¡‹Ëÿ)+Sn2+(¡‹Ëÿ)

•Á÷Á∑˝§ÿÊ ∑§ Á‹∞ ◊ÊŸ∑§ Œ‡ÊÊ•Ê¥ ◊¥ •Á÷Á∑˝§ÿÊ ∑§Ê Áfl÷fl „ÊªÊ —
(1) 0.63 V

(2) 1.68 V

(3) 0.91 V

(4) 1.40 V
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119. ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ÄÿÊ •‚◊ÊŸÈ¬ÊÃŸ •Á÷Á∑˝§ÿÊ ∑§Ê ©ŒÊ„⁄UáÊ „Ò ?
(1) CH4+4Cl2→CCl4+4HCl

(2) 2F2+2OHs→2Fs+OF2+H2O

(3) 2NO2+2OHs→NO2
s+NO3

s+H2O

(4) CH4+2O2→CO2+2H2O

120. HCl, HClO, 
4

ClO
−  •ÊÒ⁄U Ca(OCl)Cl ◊¥ Cl ∑§Ë ©¬øÿŸ ‚¥ÅÿÊ „Ò, ∑˝§◊‡Ê—

(1) −1, +1, −7, 0

(2) −1, +1, +7, 0

(3) +1, −1, +7, 1

(4) −1, −1, −7, 0


